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3. 9. &l AT 3N, Tecl. Us, 2018

1. IR (5 +6c0s0 +2¢0520) B BT AR
GG A, T e x2 — px + g =2

I BRA &, A p, ¢ &, HARI—

If the maximum and minimum values of
(5 +6¢0s0 +2¢0s20) satisfy the quadratic
equation x> — px + ¢ = 2, then p, g are

respectively.

(A) 13,12 (B) 12,13
(C) 14,13 (D) 13, 14
1. (A) AT y =35 + 6c0s0 + 2c0s20
0 @ WY& STaPHAT B UR,
4@ = — 6sin6 — 4sin20
do
I G HEH A & forg
Y _
do

— 6sin6 — 4sin20 =0
— 6sin6 — 8sin6 cosO = 0
—2sin0 (3 + 4co0s0) =0

sin@ =031 3 +4 cosO=0

iy

0 =073 cosb = 3
4

dzy
I — = — 6c0s6 — 8c0s260
do
0=0IY
2
d—f - 6-8=-14
do

0 =0T y P AN AfTHTT BT
=546 xcos0+2 x cosO
=13

ymax

ymax

3
cos@= ——
4 LR

= 5—24-2><l
2 8

y APHTH T ATH A FHIBROT
xzfpx+q=23ﬁwwsél
132-13p+g=2 (i)

a (3 3,0, .
4 4p q = ...(i1)

T WX,
9

3
169-— =13p-=
TR

16x169-9  52p-3p
= =
16 4
49p _ 2695
4 16
_ 2695x4
49x16
T (1) |
132-13x13.75+¢=2
q=178.75-169 + 2

q=11.75

=13.75

2. N 72+70+ 68 + ...... + 40 B IRTHA B—

The sum of the series 72 + 70 + 68 + ....
+401is :

(A) 950 (B) 952
(C) 954 (D) 956
2. B) T& 72+ 70+ 68+ .............. +40

e UK (a) = 72
|E=R (d) =70 72 = -2
JIfT 9= (1) = 40

AT Y&T B =T = 1
nal 9§ = S7f~aH U

72+ (n—1)d = 40

72+ (n—1) x (=2) = 40

32
—H=2==16
(n=1) 5

= [n=17]
QT BT INTHA
Snzg(a+l)

e fafer : 29-07-2018

S, = 177[72+40]

S, = 2 x112 =17 56
2
S,, =952

3. T T & o quiies el &1 9 2,

fg-enamy |fepar *, SMa*b=a+b+1;a,
b e Z &R URAING &, I1 A& UF e
A ¢ 1§ e A -2 P gfied g
Given that the set Z of integers forms
a group under the binary operations *,
definedbya *b=a+b+1;a,be Z
The inverse of —2 in the group is :

(A) 2 (B) 4
(C) =2 (D) 0
. (D) a*b=a+b+1
AT (—2) BT I x &
G 2*x=-1
(v —1 TTTD 0T B )
2+x+t1=-1
x=-2+2
x=0
arefiq 2)'=0

21 77 165
B AN —

The sum of first ten terms of the series
1 1 1

—+—+—
21 77 165

10 20
A) — B) —
(A) 129 (B) 129

30 40
C) — D) —
© 129 (D) 129

4. (A) L+L+L+ ........
21 77 165
1 1 1
+ + o
3x7 7x11 11x15
N BT pal U
1
T

" (4n-1)(4n+3)

R
" 4| 4n—1 4n+3
[3TTR1 3T B TX]
TR | 1




n=1,2,3,..... & TR be'-b'c ca'—c'a Let * be a binary operation defined on the

111 1 C o d—c'a ab'—ba' set of positive rational numbers Q™ by the
T.=—|———
v als 7] ) .
- (cd' - ¢'ay’ = (be' — b'c) (ab' — a'b) rule a*b 3 V a, b e Q. Then the
11 1 rera
L= 7_ﬁ] 6. p @1 98 M, ﬁﬂ_ THIDY X - inverse of 4 * 6 is :
L (p—2)x—p+1=0% ¥l & 0T BT AN 9 5
11 1 YA B, BAI— (A) 3 (B) 3
3= 4111 15 The value of p for which the sum of the 3 ;
squares of the roots of the equation x* — c) = (D) =
(p—2)x —p + 1 =0 is minimum, will be 8 2
’ ’ ’ A) 0 B) 1 ab
11 1 ) ®) 8. (A) a*b=—
L P ©) 2 (D) 3 3
o 4|35 39
6. B) x>~ (p-2x—p+1=0 Tl a —a’
1] 1 1 ! . Al =
0= _|:___:| AT qA T ﬁ%l ) ao.a eVae Q"
sl as L T TS b
4L = o -
T, +Ty+ Ty + e T ™ arpep 2(a) aoe =eoa=a
axe
|y r i 4, S0 1 c T are=—
413 7 7 11 39 39 43 Kl ap=1-p|_
ac =e=3
/1 1 1]143-3 = a=— =
= =——| = o —= 39 o2+ = (a+fP-20p¥ 3
S 4[3 43] 4[ 129] @+ =t pp-2ap e ane
o 02 + [ =(p—27~2(1~p) =y (T T) 8 -T2 -
:Z[E] y=p*+4-4p-2+2p .
) gl  8*8 1 =3 (-a*a'=e)
10 y=p -2p+2 8.8
5107 5q 2 Sk ©) =3
129 a1 y=@p@-1)"+1 3
5. B @ + bx + ¢ =0, + bx+¢ =0 » LI A P R p= | (871):2
P UH SIS 1 yfereier ¥— 8
ThKrEF diti thii}?ﬁ f %Zer 7. BTA) = 102g2(3x +32) I & 9
e condition that the equations ax? + bx x*4+3x+ N S = 2
+¢=0,a'x*+b'x+c'=0have a common eﬁ?ﬂa R 8

The domain of the function f(x) =

root is : log, (x+3)
(A) (be'—ble)? = (cd' — c'a)(ab' — a'b) m is : 9. S-S THE PN L DI T—
(B) (ab' — a'b)*> = (ca' — c'a)(bc' — b'c) The least order of non-Abelian group is :
(€) (cd' - c'a)? = (be' — be)(ab' — a'b) (A) R; =12 (A) 4 (B) 5
. . B —2, o0
(D) Etl?i?ﬁ ¥ PIS Ta&l/None of the (C) i{ )1 5 3 © 6 D) 8
above (©) R—{-1,-2, -3 9. (C) U 3F-3feell |qg, S I-faf g
5.(C) ax® +bx+c=0 ©) 3, =)= 1,2} ¥l PR & | T Tl W © forera
a2+ b+ =0 7. (D)yaE fo) = oeaG+Y) GO T JMANTH T8 B & | T
24 batc=0 x* +3x+2 AR S-Sl e fadbherd T
< ao?+bo+tc=
D3 orTepT 64 6 B |
e Mot et () R B af - SIS €76 S .
10. BT f: R - R, filx) =x*+x
+3>0q x?+3x+2 20
¥ x 1 * rorres R ¥, o1 e £ ¥—
b be,—eb, @, —ca, ab,—ba, A x>-37A (x +2)(x +1) #0 If the functionf: R — R is defined by f{x)
2 o 1 A x> 3dAMx =1, 2 =x? + x then the function fis :
o _ _ ‘ (A) TPHPI TR 3ATeBIED Ta1/one-one but
bc'-b'c ca'-c'a ab'-ba' 3T Wl flx) BT U = (=3, o) — 1ot onto
be'—b'e 1,2} (B) *ITeBIE® TR Tdhd 7181 /onto but not
“ ca'-c'a 8. A oifey 6 * v fg-smeamy fspar, one-one -
TS TR S & wge QF (C) TSI TF 3MeBIEDH ]F1/both one-one
q AR and onto
' wR B a*b=22 Va beQEN
ca'—c'a arb==n Ve Q (D) 9 T TdHaN, T & IMeWIEH/ neither
o= — .
ab'—ba' ARG ¥ 199 4 * 6 B TR T one-one nor onto

2 | AGRAWAL =XAMCART



10. (A) f:R >R, flx)=x>+x
| x, 9 x, PIg Al A1 59 TR &
ﬁ;xl,xzeR
39 f(xl) =f(x2)
x12+x1 =x22+x2
x127x22+x17x2 =0
(e, =x)lx, +x,-1]1=0

& =¥
q X tx,—1=0
I We Ul &l & Fifh I

Rerfert v &
TAT A y=x2+x & ye R Vy
3 x € Riﬁ%ﬁyﬂ"’ﬂﬂ%ﬂf_\jy
B TIPS 9 B foTC IS e 781 51
[ fx) SATTBIEH T4l & |
11. F=feRed woHt o= far Hife—
Consider the following statements :
I IR ATH oH-aafd snege e, a1 A2

AT BT I/If A is skew-symmetric
matrix, then A2 is symmetric.

II. U fawH ife aret fav-wafia s
BT @@W?‘f\’l'@lﬁ%l/ﬂace of

a skew-symmetric matrix of an odd
order is always zero.

SHh BT # | DH-91/A G T/
Which of the above statements is/are true ?
(A) @9a 1/Only I

(B) &aat 11/Only II

(C) 18R I 2M/Both I and II

(D) T @1 19 & II/Neither I nor II

11. (B) 1.3 AT fawm wofAa amegs 5|

. A'=-A

T ) =@y
(A% = (-AY
(A% = A2

37 A2US AT NS T
I1. T fawe @ife arel fasH-wfa
378 BT IR g Y el &
A A TF fawm-aafia e ©
Rt DIfe 1 x n & W& n T fawH
= B |
T gRHTST ¥,
det(A) = det(A") (1)
oIl I8 T v T S B |
det(A") = (—1)" det(A)
(- n U oo |\ 7 )
det(A") =—det(A) ...(ii)
. (1) T (10) 9,
det(A) = —det(A)
2det(A) =0
A det(A) =0

12.

12.

13. IfE ATUS 2 x 2 SgE 3 TR ¢ b 3R

13.

3FeIT o Fafia aTTegE & faaul &

T I B

T 9 STegg BT AR W L B |

NLICSUREER]
x+2y+3z=1
2x+y+3z=2
xX+y+2z=37P

The system of equations
x+2y+3z=1
2x+y+3z=2
x+y+2z=3

has

(A) B B T8 &/no solution

(B) Ifg<T & &/unique solution
(C) 3= &1 &/infinite solution

(D) S9Yh T BT 7a1/None of the above

(A) T x+2y+3z=1
2x+y+3z=2
x+ty+2z=3

(1 2 3
37q: A=2 1 3|,
11 2
-
B=]2
q M=
»ZA
1 2 3
Al=2 1 3
11 2

=12-3)-2(4-3)+32-1)
=—1-2+3=0

£ |A| =0

37 STTegE YHAUIY T8 |
37 FHIHRON H PIE &A 6l &

A=6,|A|= 12,71 TR@ (A ) 5—

If Ais a 2 x 2 matrix such that trace A= 6,

|A| = 12, then trace (A7) is :

1 1
(A) 5 (B) 3
1
© s (D) 1
(A) IE A =6
|A] =12
ARG (A)
A= —=—=
I (A= =
[--A-lzi
' [A]

_ 8

1
2 2

14. I f(x—1)=x3—13, TG A1) B AA
X X

14.

15.

T—

1y L o1
If f| x—— |=x"——, then the value of
x x

f)is:
(A) 2 (B) -1
© 0 (D) 4
(D) Tt f(x—l) =x3—i3
x x
a9 A1)
e, (1)
X

Al = x3—i3 =4
X

fi=4

TBROT x| + x| — 6 = 0 B forw—

For the equation |x* + |x| -6=0:

(A)

®)

©

(D)

Had Th qa ¥/there is only one

root
H\Ffﬁ BT AN —1 /the sum of roots is
-1

Tl 1 PUIEA — 4 &/the product

of roots is — 4
TR A ¥/there are four roots

15. (D) THHRT x> + [x| -6 =0

ger fRerfa—
K2 =22 x| =x9
X+x-6=0
x+3)(x-2)=0
x=-3,2
e Rerfa—
P2 =x2T x| ==
XX -x-6=0
(x+2)(x-3)=0
x=3,-2
37T TR B R T &

TR | 3



16. R FAIR (a— by + (c—ax +(b—c)=0
S A RSB, W a, b, ¢ 5—
If the roots of the equation (a — b)x? +
(c—ax+(b—c)=0are equal, a, b, c are
in:
(A) ¥R G W/arithmetic  pro-
gression
B) Tﬂﬁ? 21 #/geometric progression
(C) TTH® 21 §/harmonic progression
(D) T—W{i?ﬁ FI PIe Tal/None of the above
16. (A) . (a—bp2+(c—ap+(b—c) =0
1T A =(a-b)
B=(c—a)
C=(b-9¢
9 el SRR & 9
D=0
B2 =4AC
(c—aP?=4a-b)b-c)
o A +a*—2ac=4[ab—ac—b*+ bc]
2+ a® — 2ac = 4ab—4ac—4b* + 4bc
2+ a?+2ac+4b>—4b(a +c)=0
Ul (¢ + a)’> + (2b)> 2% (2b) X (¢ + a)
=0
Il (c +a—2b)>=0
I (c +a-2b) =0
STQﬁ?[ 2b =a+c
31q: a, b, c TR &G A &1
17. T f{x) = cos|x| 3R g(x) = sinfx|, T—
If f{x) = cos|x| and g(x) = sin|x|, then :
(A) f3IR g QI 9 %o &/both fand g
are even functions
(B) f3IR g QM faws were &/both fand
g are odd functions
(C) /T T WeT qAT g T fas wer
¥/f is an even function and g is an
odd function
(D) [V fIsH He 9 g TH T Herd

8/ /f is an odd function and g is an
even function

17. (A) flx) =cos|x| T g(x)=sinx|
g x =—xW
flx) = cos|-x| = cosx
q 2(x) = sin|—x| = sinx
37T fx) T g(x) ST THGET © |
1 x x
18. I f(x) = |x x* 1 ?ﬁf(i/g)ib"[
X 1 x
A B—

4 | AGRAWAL =XAMCART

1 x X
Iff(x)=|x x> 1| then the value of
¥ 1 x
f (i/g ) is :
(A) -6 (B) 6
©) 4 (D) -4
1 x x
18. (D) fx)=|x x 1
R

F0) =103 — 1) —x(2 —x?) + x2(x—x*)
fx)=x3—1+x>—x°
fix)=2x3—x°—1

x= B AG)TI R

748 =o{#) (o]
=2x3-32-1

=6-9-1

7(B) =-4

19. 99 fog 5 fpell ¥9=ag A W R
T FEY § a9l A e 61, A
W TP G DI Sl &1 a9 R

TR 8, I &R daer afa—

Let R be a relation on a set A and let I,
denote the identity relation on A. Then R
is antisymmetric, if and only if :

(A) R=R"!

(B) RUR'cI,

(C) RNR'cI,

(D) Wﬁ?ﬁ HY P 78/ None of the above

19. (D) AT A TS Raq Fead g qem 1,
AT TE IR T, S L, = (v, )) :
X,y € AH?JTx=y}'\‘§TtIﬁ“1Tﬁ?T%,
9 1,. AT Tb THADBRI T
FEE & W § 5, v wqgeay 7
TP TTTDR FHT A x A § S
[ BT G (x, ) A TG B
s T x =y
3 fhll I=ag A IR gRwIfvd R
YfoRmAT BEard €, a3 xRy eI
ny=>x=y,\_r|El'%x,yeA
YT (x, y)RTA (1, x)R =>x=y
AT x, y § T TA y, x | T
ﬁ“ﬁwﬁ"'ﬂmx=y
I faded (D) 8 B |

20. I TP YUIRIR S BT G U< x T 6D
S UG] BT ANTHA % B, 9l x B AT

If x is the first term of a geometric
progression and the sum of its infinite

terms is %, then x lies in the interval

1 « 1 «

(A) 0<x<—¥ (B) -l<x<—9H
2 4

1 1 2

C) ——<x<—¥" (D) 0<x<= ¥
© 3 5 (D) 3

20. (D) YUK S€l &1 Y2H U8 a = x

1
q Sw—g
Ifg |raf=<R 2, @
a _1
1-r 3
3x=1-r
r=1-3x
3 [r <1
I1-3x <1
gl —1<1-3x<1
-2 <-3x<0
a1 2>3x>0
a1 O<x<g
3

21. IR ir" =s|ri<l ir“ TR T—
n=0

n=0

If ZI’" =s,/r|<1, then ZVZ'Z is equal
n=0 n=0

to:
52 52
A B
(A) 2s+1 (®) 2s—1
2s
©) = (D) s
s =1
21. B) X7 =s
n=0
FARTL+7r+72+ e, =g
1 —
1-r -
1—r=l
s
1
7= ==
K
s—1




T s+s—D)(s—s+1)

22. 3= i+L+L+i+...w S IRRSIN
7 27 3 4P

g, Afe—

The infinite series

r 1 1 1 . .
—+—+—+—+...00 is convergent, if :
12 27 37 4

(A) p=0
© p=1

B)p<l
D)p>1

22. (D) i+L+L+ !

11’ 2p 3p 4_17 ..... oo
I BT 7l TS
U =L
n np
GEI 8] = !
L (1)
ntl np
U, — (n+1)
B 1
- P
(+7)
n
PN & fore
lim e _ lim— =1

oo n—oo P
v
n

3TT: YU UXIE0T fawet e B |

1
™V, =
n n[’

lim —2
n—e \/
n

an:znipwm

=1

I P> 1 (P-S0T T1eTor 3)

23. 7 SIgHAI A | DIF-T1 U AT el
B
Which one of the following sequences is
not convergent ?

@A) (1+¢17)

n
(B) <n+1>

(=D
(©) <1+ " >

(D) ST # ¥ PIg Tei/None of the

above

23. (A) TR o= 20 U, @ febel &1 AR
&l H SIPIRY B @ ol

la,| > la

e lim|U,|[ =0

n+1‘

n+1 a
<lﬂ> =<o,z,z,z ...... >
n 2 34

arct: S (1+(=1)") sifrend =8 & |

2y — 2
24, IR (1 -x+x Yi=a,tax+axt+. ..+
2n
a, x"q9 (a, +a, +a, + ... +a, ) ISR
If (1 7x+x2)”=a0+a1x+a2x2+ .t
) .
a, x*"then (a,+a,+a,+..+a,,)isequal

to:
3" -1 3" +1
A B
(A) 5 B) 2
3"+2 3"-2
C D
© 3 (D) 3

24. (B) (1 fx+x2)”=a0+a1x+a2x2+...+
aanz" ...(1)
FHHROT (1) H x =—1 7@ TR,
(I+1+D"=ay—a,ta,—az+....
+a2n
3”=a07al+fzzfa3+....+a2n ...(i1)
FHHIT (1) H x = | 7&H TR,
(I-1+1)y'=a,+a +a,+.... +

a
2n
l=a,+a, +a,*a;+.. +a,, ...(iil)

T (i) T FHI. (ii) BT ST W,

n —
3+1=2a,*ta,ta,+..+a,)

?IITaO+a2+a4+ ....... a, =

25. T 3T FE Bl YD SIS 81 5—
Every subgroup of an Abelian group is
not :

(A) THME/cyclic

(B) TS/ Abelian

(C) Y™ /normal

(D) BT@?H FY BE 78/ None of the above

25. (A) | TR TG AT B 8, TR T
AT B I SUFHE 3MIeTD
B A TE B & | A T
A S I NI A9 H TP AT
T H BT 8 R AIfeTap! H Vet e
@1 |1 e Bl & 8 e &
Y S S|

26. o |ax[ +[ad] =144 @ik [a|=4 B,
a1 [b| R E-
If |Zz><13|2 +|?z.l§|2 =144 and |71| =4, then
8| s equal to :

(A) 12
©) 4

B) 8
(D)3

- -2 - =2
26. (D) [axB| +[aB] =144

2

N I [
al.|b|. . b
|| | |b| sin 6.7 +||a| |b| cos 6

— 144
1 |Zz|2 |l;|2 sin® 0+ |(;|2 |ld7|2 cos’ 0
[ (@) =1]

1 |Zz|2 |l;|2 (sin’ 0 +cos’0) =144

=144

laf 5" = 144 (- sin0+ cos26=1)

o

42|E|2 — 144
-1
|77| =9=3

27. Tf& F=x*yi +xzj + 2yzk &1, div curl
F &1 71 &—
If F=x%yi +xzj+2yzk then the value

of div curl F ig -

(A) 0 B) 1
© 2 D)3
27. (A) F= X2yi+xz + 2yzl€
ij ok
- - o d 0
. IF = _ = = =
.. cur V xF x 3 oz
X’y xz 2yz

NI d
= i[g(zﬂ)—g(xy)]
9 3,
=J [a—x(2y2)—a—z(x y)]

Al 2 Jd
+k|:£(xz)—$(x y)]

i[2z = x]— jI0— 0]+ k[z — x*]
v Qz=x)i+(z-x)k
39 div curl F — V.(Curlf:)

TR | 5



¢a A a "a
=|li—+j|— [+k=—
[ax [ay) 32)
.[(2z —x) +(z— xz)lé]

= %(22—x)+giz(z—xz)

=_1+1
divcurl F =0

28. I 4 dqo § R ARw S, V(?,&,B)
TR B—

If @ and b are constant vectors, then

V(},&,B) is equal to :
(A) 0 ®) (ab)r
() axb () (axb)l
28. (C) A @ - aitay+ak
g b=>bi+bj+bk
a  V([rab]) - V[ (axB)]
i ;o= xi+y+zk
o ik
axbh =|a, a, a
b, b, b,

= l’:(aybz - byaz) - .}.(axbz - bxaz)
+h(a,b, —ba,)
r.(axb) = x(a,b.~b,a.)-y(ab.~ba,)

+z(axby - bxay)

39 V[r.(a Xb)] = [$+$+¥J
[x(aybz - byaz) - yab, —ba)+
z(axby - bxay)]

=i(a,b,—b,a,)- jlab, —ba,)

+h(a,b, —ba,)

20, (éxa)x(axB) a1 o 3

The value of (cxa)x(axb) is:
®) [bealb
(D) [abc]a

6 | AGRAWAL =XAMCART

29. (D) (cxa)x(axb)

- [abe]a

30. div(;xa)l St d e ara e b
IRER &—

div (r X a) ~where @ is a constant vector,

is equal to :
(A) 0 ®) |q]
©) ‘r‘ (D) a.r
30. (A) a -ai+aj+ak
g r o Xi+yj+zk
ij ok
rxa =|a, a, a,
x y z

= i(a,z—a,y)- j(a,z—ax) +

Ie(ax y—a,x)

L 20 ~d .0
ood Xa) =|i—+j—+k—
lV(I" a) (z o +J ) + Bz)

.(;xa)

(a,z—a.y)- %(axz —ax)+ i

o 3z
(ay—apx)
=0-0+0
div (? x Zz) -0

31. Ik A &R B o wfew &, -
Ifvectors A and B are irrotational, then :
(A) AxB o ¥

AXB is irrotational
(B) AxB uRAIferg &

AXB is solenoidal
(C) A-B ¥

A—-B is rotational

(D) ij?ﬁ # 9 PBIg 78l/None of the

above

31. (B) A 9 B i ¥

AT VXA =07 VB =0
a B(VxA) =0 ()
K.(VXE) =
M W,
E.(VXK)—K.(VXE) =@

...(ii)

...(iii)
- B(VxA)-A(VxB) = V(AxB)

[ 9]
reffe V.(KXE) =

TH UBR A x B T IRANAD & |

r o - ~ A A
32. |AfeS —, W& r=xi+yj+zk, &—

7

r - ~ A A
The vector —5, where » =xi + yj + zk,

g

is:

(A) Baat gRATRISI/only solenoidal

(B) &da Srguiia/only irrotational

(C) uRAIfeTRT 3R a7eui SM1/both
solenoidal and irrotational

(D) =1 a1 uRTferera, = & sreola/

neither solenoidal nor irrotational

32. B)HMT A = %=é
GG
('.';=x5+y}+zl€)

xf+y}'+zl€

X oMyt
(x2+y2+zz)2

39 CurlA = Vx A

iJ ok
9 9 9
“lox 9y oz
x y z
R

Zi{;_
: 2 2 2\2
= | (x*+y +z)

— ——

o) v
yaz (x> +y*+2°)



00 1 [
A ox | (P + Y+ 2
-J
d 1
—_ -
32{(x2+y2+22)2}

9y v |
7 yax X+ + %)
) 1
P
8y{(x2+y2+22)2}

:;[ (D) y-2R2) }

(x? -i-y2 +22)° (¥ +y2 +z%)

x(=2)(2z)
F+y +z°) |

x(=2)(2y)
(x> +y° +zz)34

=

~ A,[ 2(=2)(2x)

(P +y*+2%)

S e
(x> +y*+2°)

4 iz - y2) - j(2x=2%)]
= 2 2 253 D
7+ +2°) | +k(xy — xp) ]
CurlA =Vx A =0
I AW A BIe ST T
33. g2 AxB=CxD &k AxC=BxD,
drafee A-D &k B-C ¥—
IfKX§=EXB and KXE=EX5,then
vectors A—D and B—C are:
(A) I¥TER/equal
(B) SHT=IR/parallel
(C) <rgad/perpendicular
(D) 60° @ VT G 31 /inclined at an
angle of 60°

33. (B) A
A

9 BT PIoT B—

If a,b, ¢ are non-coplanar unit vectors

e
such that aX(ch):W, then the

angle between a and b is:

» ® =
© 2 (D) 7
34. (A)  ax(bxc) - 5\7;
(@ p-(a)e = Lot
S

J RIPRI T B |
S o =
2
== 0 _
dAMm a.b+— =0
2
- 1
arfq ab = —
: 2
< Jal=[e[=| =1
(AT Sh1E AR B )
1
.|b|.cos@ = ——
|a].|b|.cos \/5
efcos3—7r
CosUu = 4
o 3"
T4

35. 3fa V,,V,,V; & 0 erer wfde & fp
VixV, =V, VXV, =, L -
If \71,\72,\73 are three non-zero vectors

such that lev; 2\73, VZXW = \71 ,then—

R A RAEA
© V=M @) Vi=VixV;
3.0 VixV, =V, (i)

IR V,xV, =V, ...(i)

. ()T ()T EHF V.V, 9

V, doaq e @R V,,V, 7V,
& T |

36.

37.

afq Vi,V @V,
g

T 1. (1) 9 (i) 9,
i ~[¥]

URRR o 4 q

o ViV - (i)

g ‘\TZHVs‘sin90° = |V]|

1 {72{73‘ = |V1| ..(iv)

. (iii) T (iv) BT 9T B TR,
VI ¥
Vv (v

5 -
N A
R

z+3

The equations z-3 =2 represents :

z+

(A) U® URgerd/a parabola

(B) U® SAfIRaerI/a hyperbola
(C) U® gd/a circle

(D) TS rege/an ellipse

C =3,
© z+3|
z=x+iyX@T W
x+iy-3
. . al =2
x+iy+3

o Je=e
(x+3)2+y2 a

A (-3 +)2 =4[ +3)7+)7]
(@ B W)

X2 +9—6x + 2 =4x? + 36 + 24x + 47

32+ 312+ 300 +27=0

A2 +y2+10x+9=0

T I BRI U Tl bl HGHKT el &

afe x, = cos(£)+isin(£),n eN, qr
271 2’7
lim(x,.x,. X500 X,) T—

i .. T
If x, =cos (?) +isin (?),n €N, then

lim(x,.x,.X;......X,) 1S :
n—»eo

(A) 0
©) 1

TR | 7



37. (B) x —cos(l)ﬂ'sin(l)
. ( ) n 2n 2n

9 lim(x,x,x;........ x,)
n—co

. T .. T T .. T

— lim| [ cos—+isin— [cos| —+isin— |...»0
n—see 2 2 4 4
. T T T N L

— lim|cos| —+—+—+...n [+isin|—+—...n
n—e 2 4 8 2 4

= (faar w1 9)

T T T L. (T T T
= COS[ ==+ =00 |+isin| —+—+—+...00
(2 48 ) (2 48 )

(JUIRR 8¢l & 3= Yl &1 AN

= cos(7m) + isin(7)

=-1+0
=-1
u{x,y}+ivi{x,y}, z#0 TR
38.?11%;(2){ 0, 220 W
y X =y x3+y3
STET u(x, y) = P v(x, )= P

4 lim @ =0 B AM, y=x D forg

z—0 z—0

BAT—
u{x,y}+iv{x, v}, z#0
0. z=0 where

Ifflz) = {

=y Oty
= a2 vxy)= 27 N then

uen= 77

the value of lim

,alongy=x,
z—0

S(@)-/(0)
z—0
will be :

. 1-i
(A) 1-i (B) BN

1+i

€ 1+i (D) —=

38. (D) f(@)=u(x,y) + iv(x, y)

o= x3—y3 +i(x3+y3]

x2+y2 x2+y2

. L= S(©)
z—0
3.3 .03 3
xz y2+l(xz +y2)_0
X +y X +y

x+iy—0

(- f0)=0)
_ x —y3 +i(x° +y3)
(X + y*)(x +iy)

8 | AGRAWAL =XAMCART

o il @)=/
e 70
3_ .3 _ . 3 3
_ X YY)
20 (Y )(x+iy)

y—0

y=xa forw
[ S =1 (0)
e z—()
X=X +i(x* +x7)
= lim——————
=0 (x"+x7)(x+1x)

2x% i 1-i
llmTZ—.X—.
=02x"(1+7) 1+i 1-i

i=i® 1+ 1+i
i—i¢ 1+1 2

l+a "
39.?Il'f%{a=cos4—n+isin4—1E o, 99 -4
3 3 2
B A §—

Ifa= cos4—3n + isin4—3n , then the value of

(1+a)3" .
T 1S ©

1

(A) (1y ®) 55
©) (;13" (D) (-1y'+1

39. (C) a= cos4?n+isin4?n

M YEH WX,

(feAmreR 99 )

COSnT — i Sin nm
23n

cosT—isinm '
23

—1-ix0Y) (=)
= 23 = 53

40. AR (1) 3PS BT THA &, A (1 + o?
+20)3" — (1 + o+ 20?)3H AF &—
If o(#1) is cube root of unity, then the
value of (1 + @ +2w)*" — (1 + o+ 2w?)>"
is :

(A) 0 (B) 1
©) o (D) &
40. (A) (1 + @ +20)" — (1 + 0+ 2a?)"

»: TPTS BT TTHA 8 |

SRIR| =1

q l+o+a?=0

) 1+ w=—a?

qem 1+ =-w

=S+ +20)"— (1 + o+ 20?)
= (,w+ 2(0)3" _ (70)2 + 2w2)3n

— ((0)3" _ (w2)3n
= ((03)" _ (CUZ)Zn
=1-1

=0

41. IR garafas &, dq—
If Ois real, then :
(A) cos(iB) = icoshO
(B) sin(i6) = isinhO
(C) tan(if) = tank6
(D) cot(iB) = icothO

0i _efie
41. (B) - sinf = -
2i
. e +e?
q sink6 =
2
e+9i2 + e—ize
GE sini@ = ;
2i
_Letod il
i 2i 2

sini@ = isinh O

z=3
z+3
TS g e dRel &, e b iR
e e &, e

If z = x + iy, where i=v-1, then
z=-3
z+3

42. AR z=x+iy, & i=~/-1, A =2

=2 represents a circle, whose

centre and radius, respectively, are :

(A) (5,0),5 (B) (-5,0),2
©) (-5,0),3 (D) (-5,0),4
42. (D) - z=x+1iy
q cuk
z+3|
x+iy-3
GE . .. =2
x+iy+3




43.

43.

44,

44.

(x=3+)*
Va3 +y 2
I B W,
(x=3)7+ )% =4[(x+3)*+)7]
X2 +9—6x+)?=4x> + 47 + 36 + 24x
T 3% +3)% +30x +27 = 0
I 2+ +10x+9 =0
FHIBROT BT FeT T,
X242+ 2gx + 2 + ¢ =0 FRA TR
g2=5,=0,c=9
L BE =(-g,—/)=(-5,0)
= 16

=4
IR (1) TPE B T A, A {(1 -0
+ @)+ (1 + o— 0?)’ - 32} B AF &—

If o(#1) is a cube root of unity, then the
value of {(1 — 0+ @?)’ + (1 + ®— «?)’ -

32} is:
(A) 0 B) -32
©) 32 (D) — 64

(A)[1- 0+ P +[1+0— P -32
Pl HIH

SRIR| =1
q l+o+a?=0
1 l+w=-a?
GRI l+a?=—w

A+ - P +[l+ o- 0]’ -32
=[-0- o) + [-&? - o] -32

= (20) + (207 - 32
=320 - 320" - 32

= 32(w’ + 0%+ 1)

=32+ .o+ 1)
=3@+o+rl) [«=1,=1]
=-32x0

=0
3—4i @1 WA -
The value of \3—4i s :
(A) 2+i (B) 1+i
€) 1-i (D) 2—i
(D) A V3-4i =x+iy
I B W,
3 —4i =x*+ %%+ 2ixy
3—4i =x*—)?+i.(2xp)
Jo T A R,
x*—y2=3 (i)
q 2xy =—4 ...(11)
(R )

22 +)2 = BF +(4)
_ 16
x?+3?=5
. (1) T (iii) BT S WX,
x?-y*=3 (1)
x¥?+)y2=5 ...(1it)

e W,

...(iif)

i =
x2=4
x=12

q "M TR,

x2_y2:3

x2+y2:5

O =—

V=
y ==l

N3-4i =2 Fi
AR 2 — A 2+
45. If cos(x + iy) = cosa+ isiney, T (cosh2y
+ c0s2x) DI |9 '—

If cos(x + iy) = coso + isinc, then the
value of (cosh2y + cos2x) is :
(A) 1 B) 2

©) -2 (D) V2

cos(x + iy) = coso + isino
T cos(x + iy) = e ..(1)
qd cos(x — iy) = e % ...(ii)
FAL. (1) T (ii) BT JoT A TR,

cos(x + iy) cos(x — iy) = e'%ei*

45. (B)

T 2cos(x + iy)cos(x —iy) =1 x 2
(2 %1 Tom)
7 cos(x + iy + x — iy) + cos(x +
iy—xtiy)=2
cos2x + cosi(2y) =2
-+ cosif = coshO
A cosh2y + cos2x =2
46. z=— 8i ® W TS E—
The three cube roots of z =— 8i are :
(A) 2i,—B—i,\B—i
(B) —2i,—\3-i,\3-i
(C) 2i,—3-i,\B+i
(D) 2i,\3-i, -3 +i
46. (B) z=—8i % TTqA
AT w=(2)1?

w=(-8i)3
w= (8 ()"

1
T 3
cos (2n1t + EJ+

w= -2
isin(ZmHE)
2
i =Cos (2nn+£)+ isin (2nn+£)
2 2
ISEIRERR R
[ (Znn n)
cos| —+—
3 6
w = =2
" . (znn n)
isin| —+—
3 6
n=00x
Wo = -2 cosE+isin—]
= =2 £+i.l
|2 2
Wy = —\/g—l'
n=1W
[ 2n W
cos T+g +
w, =2
. (2 0w
isinf —+—
n(5+2)
ZF 5 .. Sm
w, == hcos?ﬂsm?
-2 _\/g+i.l
| 2 2
w, = \/g—l'
n=2W
it W
COS T'l-g ar
wy= 2
. (4 W
isin[ —+—
(5+2)
3n .. (3=®
w. = —2| cos— +isin| —
2 2 2
=_2[0 + i(-1)]
w, =20
o 2B I BEA 2i,-3-i
V3-i ¥
z—1
I =—4 _
47. IR m(22+1) B, A oguers

-1
If IIH(ZZZ_'_1 )= —4 then the locus of z is :

(A) TS regd/an ellipse

(B) T% URIerd/a parabola

(C) U ¥R X@1/a straight line
(D) U gd/a circle
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47. (D) Im(z—_l):—4

Im

Im

48.

48.

2z+1
z=x+iy?'@efq'<’,
" x+iy—1
2x+iy)+1|
m{_iizﬁiil_]=4
2x+1)+i(2y)
[ (x=D+2y  2x+D—i(2y)
| 2x+1)+i(2y)  2x+1)—i(2y)
(&R &1 IR U1 IR WR)
[(x=DQ2x+1)—i2y(x—1)
+iy(2x +1)—i*2y’

=—4

=4

Qx+1)* +4y’
(x=DQx+1)+2y*
2x+1)* +4y?

{(2x+1)y—2y(x—1)}i _
Q2x+1) +4)° -

4

2x+1)y—-2y(x-1)

U Qx+1y7+4y"
2xy +y—2xp+ 2y = 4[4x* + 1+
4x + 47]

I -3y = 1632 + 16)* + 16x + 4

T 16x2+ 16> + 16x +3y+4=0

3]
A2+ +x+ —y+— =0
4 167" 4

T FHIPRVT TP g1 Bl =R Bl ¢ |

AR Az) = (2 + @) + ibxy, z=x + iy Bl
Td ALY Jeifd Hwad &, Ol a + b Bl
| §—

If fiz) = (x> + @y?) + ibxy is a complex
analytic function of z = x + iy, then the

value of a + b is:

(A) 0 B) 1
© -1 D)2
(B) A=+ ay?) +ibxy
AT u=x>+ay?
v=bxy
RIE f(z) T AR GRS Ho &
g L _
A Bx ay
o M
ay ox
a_u a 2 2
FV g(x +ay”)=2x
i = i(bxy)=bx
dy Oy
Ju v
¥ ox
2x = bx

10 | AGRAWAL =XAMCART

49.

49.

g1 b=2

GEII a_u = i()c2 +ay’)=2ay
dy dy
dv 9
— = —(bxy)=b
> ax(xy) y
au_ﬂ
g_ax
= 2ay =—by
2a=-2
a=-1
at+tb=-1+2
atb=1
FfaRad § & DH-91 Te Tad & ?

Which one the following is false ?

(A) f(2) =z %8 N Jweifis 78 ¥/ £(2)
=z is nowhere analytic

(B) f(z) = 2> 9Ll T/f(2) = 22 is
analytic everywhere

(©) f(2) =212, z = 0 T ITIRF &/ f(2)
= |z]?is analytic at z= 0

(D) f(z) = & |a3l qANB 8/f(z) = € is

analytic everywhere

(C) fawea (A) ¥,
fD)=z=x—iy
B u=x,v=-y
Ju ou
o X3 — =11
ox dy
0
X g -
ay ox
2 ou v
Igl Z =
ox  dy

I f{z) =z ILAVB 78 & A T8

C — R IR I FgC 78l PR & |

fawad (B)¥, flz) =z2=(x + iy)>
f2) =x* = y*+ i(2xy)

gl u=x2-—y%v=_2xy
Ju v
3 a *2)6, ay =2x
R a_u =2yd — =2
ay =4y a =2y
< ou v
e ==
ox dy
qor v
dy ox

W:ﬂz)=zzﬂﬁ3[%rﬁﬁﬁ?5%a?ﬂﬁ
& C — R FHIPRT BT T PRaAT
sl

faed (C) &, fiz) = |2 =22 +)?

gl u=x2+y2,v=0
0

oK a—uzzx,—v:O
ox oy

50.

50.

51.

51.

ou v
q — =2y, — =0
ay y3 ax
. Ou 0
TE S o el f(z) = [ 2= 0
ox dy *
W AP e B |
faweg (D) 9,
foy=e=eth
= e".[cosy + isiny]
D u = e*cosy
q v = e'siny
3 E)_u = e*cosy
ox
. or,
- cosy
w2
y siny
g ﬁ = e'sin
ox i’
o u v
Jal - -
ox oy
0
qer o _ou
dy ox

I4: flz) = & qIF ILANE B |
ze Co forg e fiam |z + i > |z — 4| &—

Forz € C, the inequality |z + 7] > |z— 1| is :

(A) TR 9d/always true

(B) &9 T 9T el /never true

(C) Rez> 0 foTy F&/true for Rez> 0

(D) Imz> 03 T ¥ /true for Im z> 0

D) |z +i>|z—1i

z:x+iy??§|ﬁtl'\’,

betiy+il > +iy—i

+iy+ DI > +iy - 1)

a1 \/x2+(y+l)2 > \/x2+(y—1)2

M PRA W,
x2+(y+1)2>x2+(y_1)2
Y+1+2p>32+1-2y

a1 4y >0

y>0
&d: Imz > 0 10 ¥ & |

2
_[Sx—dx P B—
S31+437

2
The value of JZ%dx is:
S+

x

1 1
(A) 3 (B) 5
©) 3 (D) 9

3 x2dx .
(D)FFT I = J—31+3>‘ o{()



X =9 TR,

3 t2db

_3m

X =—13ET )

dx =—dt

qam  x=-3W¢=3
x=3W¢=-3

= 1t
=") 13

_J-s 3'edt

S31+3

. (i) T (iii) BT ST W,
= r £(1+3")dt

- 1+3
- [ra=],
= é[f +3°]
21 = §><54
=  1=9

..(if) (5T 2 90)

...(iii)

52. GBI y = sinx, y = cosx AN -37eT FRT

TR &5 B &hel B—

The area bounded by the curves y = sinx,

y = cosx and y-axis is :

(A) V2+1 B) V2-1

© 2(V2-1) () Y2

2

52. (B) y=sinx

¥ = cosx

aﬁa%?fhmyzo,%

()
..(ii)

qPT q -3781 B 1T oRT SFAB
A= J.O%(cosx—sinx)dx

m

A = [sinx+cosx]

1
1
1
" \&O

. T T .
A= smz+c0sz—sm0—coso

1

LI
V2 2
A= 21
2
A=+2-1

53. afx 111117“""”;_3—1 2, a, bl
o

2

x—=2

T BT—

If lim

x—2

NJax+b -3
x—=2

a, b will be :

(A) a=b=3
(C) a=0,b=4

53. (A) lim

B) azb
(D)a=2,b=1

Jax+b-3 1
=2 x—2 2
IHT BT A N R,
N2a+b-3 1
0 2
I N2a+b-3 =0
N2a+b =3
7 2a +b=9 (1)
e L'HOSPITAL f+a¥ ¥,
di(\/ax b—3)

1
jméx—__ ° _
lxl_lg d )

a=9
a=3

TAT G BT (i) 9,
2x3+H=9
b=3

3d: a=b=3

54, fA=feTRad ®oMl WX AR difvTT—

Consider the following statements :

L

II.

¥ =lxl, x = 0 TR JTHTI &y = |x|
is differentiable at x =0

y = x|x| A ATHAT &y = x| is
differentiable everywhere

ST B F DA/ T B/
%?/Which of the above statements

is/are true?

(A) @9 I/Only I

(B) &adt 1I/Only II

(C) 18R 11 =M/Both I and II
(D) T @1 I9 & II/Neither I nor II

= % , then the value of

54. (B) Ly = x|, x = 0 O ATHeIId H

55.

NI

x, x20
SR e = = —-x, x<0

L f0+ k)= £(0)
9 R(0) = im—=—— ———
_im 20y
h—0 h h—0

= lim
h—0

- iy
-1

Rf"'(0) #Lf"(0)
IT: y = x|, x = 0 T ATHA el
sl
IL y =x|x| & x = a (S&l a €R) WX

SaBTHIIT Bl S

+x°, x2a
T ) = xx =9,

—x°, x<a

S Rf'(a) = lim

h—0

flat+h)— f(a)
h

2_ 2
_ e =a
h—0 h
. a*+h +2ah-a’
= lim————
h—0 h
=2a
. a—-h)- f(a
SN (RSO

h—0

_ 2 _ 2
_ 1imw
h—0 —h
. a*+h -2ah-a’
= lim——MM
h—0 —h

= ﬁ =2a
1
TE Rf'(a) = Lf '(a)

I y = x|x| FIH IADHE T |

RIES l:«/x2+y2+zz, ar
u
D b
x gy or TEXES
If —=\/x"+y"+2%,
Ju Jdu Jdu .
then x—+ y—+z— isequal :
ox “dy oz
(A) 0 (B) 2u
©) —u (D) u?

TR | 11



55. (C) L ffey+?
u
-l
u= (xz+y2+zz)2
—1x2x
T 2P+ + )
—X
- 3
(x2 +y° +zz)2
a0 _ -z 6
3
ox (x*+y*+22)
X UBR,
Ju —y?
y = Y T (i)
y (x2+y2+zz)2
2
qar L 0u L (i)

56.

56.

(x*+y*+22)
. (i), (i) T (iii) BT ST W,
(P +2)

(¥ +y°+ zz)%

B o

ox yay 2z
fg I Fad g p IR AR N3l Bl
BT THIDBROT E—

The differential equation of the straight
lines at a fixed distance p from the origin
is:

(A) ' —py=p(1+y?)

(B) (' +y)?>=p*(1+y?)

©) (x—w)y=p(1+y?

D) (x—y')y =p*(1+y?)

A) @ g 9 p e W & g e
N1 BT T
y
|/ AN
xcoso + ysina = p ..(1)

TRl o R P x-378  Fhra
. (i) B x B AYET TP B
WX,

)
cosoL+ s1n0c—y =0
dx
a1 coso = —sino.y!

7

12 | AGRAWAL =XAMCART

57.

—y' = cotor
. 1
sSINl = —F——
1+(y)’
coso = L
1+ ()’
T (1) ¥,
—xp' y

+ -
N T

a1 X' —y= _P(\/1+y'2)
T PR W,
' =y =p*(1+y'?)

3FaHe FHIBROT y—xﬂ=a y2+@
dx dx

BT B B—

The solution of the differential equation

(A) (x+a)(l-ay)=cy
B) (x+a)l+ay)=cy
©) (x+a)l+ay)=cx

D) v+ a1 +ax)=cy

dy ), dy
el — =L
@ e eae ]
y—x%—agfayz
d—y(x+a) =y—dy?
dx
- dy _ dx
y(l-ay)  x+a
d
i -
l-ay y x+a
(37T P31 B=A TR)
FHT IR FHIHAT BR TR,

( a +l]dy - dx
I=ay v ~ X+a
alog(l—a

%"’bg)’ =log(x + a) +logc'

1%

(STEf logc! T 3R B)

1 log(l = ay) = log[c'(x + a)]

—ay =c'(x +a)

58.

58.

59.

59.

(Antilog T TR)

&
o=t

C
[1,2]9 fix) =x(x — 1) & foTQ et Are
YT ¢ BT A —

The value of ¢ in Lagrange's mean value
theorem for f{x) =x(x— 1) in[1, 2] is :

a1 (x+a)(17ay)=%

TJ (x +a)(l—ay)=cy

5 3
(A) 2 B) 5
7 9
© 7 (D) 3
B) fx) =x(x-1)
3R = [1, 2]
a=1,b=2
f'(x)=2x-1
T AT [1, 2] & AT Pl A
¢ IS T HIE YT |
fb)—f(a)
fO="
_22-D-11=1)
2c—1= —2_1
2c—1=2
2¢=3
_3
c==
2
RIES
x = a(cost + tsint)
y = a(sinf — tcost)
a d—f 1 A §—
dx
If
x = a(cost + tsinf)
v = a(sint — tcost)
then the value of d—zf is :
dx

(A) Lsectt (B) at sec’t
a

1 sec’t

asec’t
© - —
a

D)
t t

©) x=a(cost + tsinf)  ...(1)
y=a(sint —tcost) ...(ii)

TAHRON (1) T (i) BT ¢ D A& ATHerT
B R,

= a[-sint + tcost + sinf]

= a[tcost]

dx
dr
dx
o ...(1i1)



d
aq —}; = a[cost + tsint — cost]

d
e altsint]

i ...(1v)
(iii) T (iv) BT | B TR,

ﬂ atsint tant

dx  atcost )

AT (V)EETX_C?\?W&TH?Z JABAT B

R,
&y _d(dy
a’  ax\dx
d
= —(tant
dx( )

d dt
= —(tan?).—
dt(an)dx

_ sec’t.
atcost
2
dy  1sec’t
L=y
dx a t

. 1
60. af lingxsinl:A @R limxsin— =B,
x— X

x x—eo

61.

61.

. 1
limxsin— =B
x—0 X

SR

. 1
B = lim xsin—
X—eo X

1
AT x= - T x > ool £ —> 0
t

. sint
B = lim——
=0 f

B=1
b HIBRUT (x+2y3)(;—y:y, y(0)=1
x
P EA 5
The solution of the differential equation
d) .
G+ 202 =y 9(0)=1 is :
dx
(A) x+y—33=0
B) x—y+)3=0

(C) x+2y-2°=0
(D) x+2y-23=0

@A) (x+2y3)% —y

62. B) lim <=
x—0"

EEA R
O
- 61 —
l'f'f1 1+* 1+
e° oo
1
limel_1 =1
x—0" —
e’ +1

63. WA ¢(x) = (x — a)"(x — bY' VA B T

A e Y P e ¥ 2 g »0)=1 &1 w1l B e B &, S —
¢ lmesinl = fmcsint = B dy _ Y The function ¢(x) = (x — a)"(x — b)"
I Xlir&xsm;—A and xl_t)l:xsm;— ? dx  x+2y° satisfies the conditions of Rolle's theorem,
hen :
then which of the following is true ? dx  x+2y° W .
(A) AmB 0 g q d_y = T (A) m, n &1 QUIT® Bi/m, n are positive
(B) A=03R B=co p integers
(C) A=13RB=w —x—1:2y2 B) m,n%ﬂ?ﬁ?«‘??{?r?}'[a<b/m,nare
(D) A=0aRB=1 dy y positive integers and a < b
| &+ Px = Q& qer (€ a<b
60. (D) limxsin— =A g QY A (D) m>n
X x
1 o L 63. (A) ) = (x — ay"(x — by
A= limrsin— y ), [a, b] ¥ WA T S ¥
| Q=22 fa)y=(a—a)"(a-0)"=0
1 ssinf1 )< o fiB)= (b ay'b— by =0
[LF.=e =¢ W (=0
a1 0< sinl <1 — glogr = l om(x—a)" (x — by + m(nx —a)”
X y (x-br-1=0
s (e—a)y" \(x— by [mx —mb +
(Frder 7 & fer) xxLE.= [QIF.dy+c nna] =0
.1
1 Os|x|.s1n; <« ok :J.Zyz.ldy+c cX=c¢W
y y (m + n)c=mb + na
1 b+
| 0 < |xsin—| <|x] x _ mbTna
25 y =y te €T m+n
lim0 =0 o= e - BT T SFIRTe RIed B THI B
o lim|x| =0 S x=0T, y=1 WW%l%a#wm%mﬁ
=0 0=1+1xc m,n € 1" A md n GOl & |
GEl limxsinl =0 c=-1 64. A &Y f: R — R TS ATHAI Bl
i -, 3r4ISe FHIHROT x =3 — y SHTPRE B (D) =4 1,x>0D
A=0 x+ty—33=0 g, A1) = 1,79 14) 8~

R | 13



Letf: R — R be a differentiable function
such that f'(x?) = 4x% — 1, for x > 0 and
f(1)=1. Then f(4) is :
(A) 64 (B) 30
(C) 42 (D) 28
64. D)FEIE, 1'(x2) =4x2—1 (D)
IET SR x2S A& FAHAT B
W,
j £y = j (4x> —1)dx>

f(xZ):%—xzﬂ

fGH)=2x*—x*+c

S) =1
SIS 1=2x1-1+c
c=0
GES f(?) = 2x* — x?
x =2 T8 W,
f@)=2x24-2
f4)=32-4
f(4) =28
x...&FiHFI’CE J
65. AR y=x* L3 xR y—
dx
oinfinity then xd—y is equal to :
fy=x° dx
2 2
Y Y
(A) y—xlog, x (B) x—ylog, x
2 2
Y y
© 1-ylog,x (D) ylog,x—1
65. (C) p =
y =xy(mwa%1%w)
I SR TTEFI0D o TR,
log y = log »’
log,y = ylog x
x B ATUE 3faHerT B R,
T~ Yx ot
v dx =y ge'.— »
dy
—|—-1lo =Z
i alx( g‘,x) x
T xﬂ -y
dx (l—ylogex)
y
2
T 2
dx 1-ylog, x
T
66. IS x = 1, y = log (cost), 1€ [0, Z} a

5] (2o o

T
If x =1, y = log (cost), !€ [0, Z], then

14 | AGRAWAL =XAMCART

the value of

[

dx
[dt
(A) log, (V2 +1)
(B) log,(v2-1)

(©) 2log,(v2+1)
(D) 2log,(v2-1)

d
66. (A) x=t:>d—);=l
= log cost
dy —sint
= —=— =—tan/
dt  cost

I (%)
= jf,/lz +(—tant)’dt
= J? 1+ tan® tdt

n
= j04 sectdt

n

= [loge(sect + tan t)]oI
T T
= log, (secz + tanz) —log (secO + tan0)

= log(v/2 +1)— log(1)

= log(\/z+1)
. 1 1 1

67. lim|—+ +odt— | BT HM B—
el p+l n+2 6n

The value of

. 1 1.
lim| —+ +—is:
el p+l n+2 6n

(A) 0 (B) log,2
(C) log3 (D) log,6

67. (D) lim 1+1++i
()"—>°° n+l n+2  6n

lim ! + ! +..t !
== n+l n+2 7 n+5n
(Ffera g 7 forem 1)
5n 1
lim
j"*wgl‘n+r

Snl 1

= lim
n—eo = n 1+£
n

1
CHAT L =xd = =dx
n n

68.

68.

69.

= [logt+ )],

=log(1+5)—
=log 6

n—ee

n

n—oeo

(A) e
(C) 6211

(B) WM y = 1im(1+sin3]

log(1 + 0)

lim(l +sinaJ IRER o—

. _aY .
llm(l + Slnj is equal to :
n

(B) ¢*
(D) 0

n

T SR TS o IR,

logy = limnlog (1 + sinz)
n—co n

(l+sing)
AN
1

n

= limlog

n—oo

T logy = iijlllog

..a
sSin—

X

_n

..a
sSin —

..a
Sin—
n

n

(1+sing)
N onJ

X lim.

n—oo

'H'I7|T1=tﬁ'6[n%oo?ﬁt—>0

n

(1+sinat) «lim

..a
Sin—

n

.~ logy = limlog

t—=0
logy=1x1xa

. _sinat
[lim——

=0 gt

Il logy = a

sinat

=17 lim.In

=0

=0

(1+sin?)

sint

YIITEIIOD o W%, y = ef

000
JO e"dx o1 q B—

1000

The value of J

(A) elOOO_ 1

(C) 1000(e— 1)

de .

B

1S

1000

1000

-1

-1

at

.a

sinat
g a

=1]



e Mdx

1000

69. (O fo
THATRAT DT ART T A R,
= Ll e dx + le e ldx + Jj e dx +....JIOOO

ex—999dx
999
1 2 3 1000
= [e"] +[e"'1:| +|:ex'2:| +..... [e"ggg]
0 1 2 999

(1000 STR)
= 1000(e! — &%
= 1000(e — 1)

70, [¥etdx P ¥
The value of J.xzexdx is :

(A) 2+ ¢

(B) (x*+2)e*+c

(C) (¥*+2x+2)e+c
(D) (¥*—2x+2)e*+c

70. (D) 1= [xe'dx (Ar)

[ £ £

:fljfzdx—j(%xjfzdx)dxﬂ

1= xZJ’eX —I(dixz Xjexdx)dx+c
X

= x%* — IZx.exdx +c

d

2 x X X

1= xe =2|x|e'dx—||—|e'dx |dx |[+c
e (el
I=x%"—2[xe"—e] + ¢
I=x%"—2xe* +2¢ + ¢
I=(>-2x+2)e+c¢

r xdx
0

i) T TE

71.

xdx

The value of | m is

(A) g (B) %
©) g (D) g
xdx

71 B) W 1= D)

I—— ( x+12)dx
0 x+l 1+x

(3TfRrep 3T PRA WX)

x+1
=— —— |dx
! f (1+x x+1)

(= x 1 1
= — 1 -—— |d
I 2|:J° (1+x2 1+x* x+1)x]

oo

._‘
I

%[%log(l +x%)+tan” x — log(l + x)]

0

1 V1+x2 o
1= —|log +tan” x
2 I+x
L 0
1
I+—
1 x =
5 log ] +tan” x
1+—
X
L 0

1
= —| log(1) + tan ' co — log1 — tan™" (0
S[log)+ tan™ o~ log1 —tan” (0)]

I=1[0+E—0—0]
2l 2

T
4

1
72. TR w=(x*+y*)? TA X3+ + 3axy =

Saz%’,ﬁa(a,a)q?' % BT AM &—
x

1
If u=(x*+y*)? and x>+ +3axy =54

then the value of du at (a, a)is :
dx

(A) a
(B) &
(C) 3a
(D) Eq?j?ﬁ FY B 78/ None of the above
72. (D) u= (@ +y')p ()
x @ ATIET STaPHET IR UR,
D pewn
dx 24x* + 37 . »
x+ ' .
= W ...(11)
qm x3 + 33 + 3axy = 542 ...(1it)
x P AYET STAHEAT B TR,

3x2 +3y%' + 3a(xy' + ) =0
I x>+ )y +axy' +ay=0

(X))
- ax+y2
. (i) 9,
_ (ay+x)
du ax+y’

E_ ¢x2+y2

B ax® +xy* —ay’ —x’y
(ax+ yz)\/x2 +y2

g (0, ) R,

2 2 2 2
dy aaq +aa —aa —aa

dx (a.a) (aa+aWd +a

73.

74.

74.

&

2 =0
dx(a,a)

. FgHel FHBRU N1—-x'dy ++J1- )" dx

=0 x| <1, BT TP &I &—
A solution of the differential equation

VI=xX2dy +41-y* ax=0 (x| <1,y <1)
is:
(A) x1-y" +Wl-x" =¢
(B) xsin!'y+ysinx=c
0 F—=tr—=c
( ) l_xz 1_y2
(D) Wl=x"+pyl-y* =c
(A) N1=X*dy+4/1-y*dx =0
dy + dx 0
- —_—
1/1—y2 NI
QT 3R FHIBAT BRI TR,

=

sin"ly +sinlx=¢

aﬁu—log +y xal+yalm
ox ~dy
A B—
3+y3
If u=log y > then the value of
Ju ou
X—+y— 18
ox " dy
(A) u (B) 2
©) 0 (D) u+1
X+’
= I
(B) u Og( Py
=log(x* + ) — log(x + )
X P YE ARh ahelT B UX,
o __1 3p 1
ox X +y x+y
3
S X )
i  xX+y’ x+y
u P y D AUE SRID FaheT B TR,
a_uz 31 3'3y2_ 1
dy x+y x+y

du 3y oy
ay x3+y3_x+y

. (1) T (1) DT ST |,
Ju au 3x° X

T ay

...(ii)

X4y x+y

R | 15



3

3y y
e
X +y x+y
73(x3+y3)_x+y
X4yt x4y
=3-1
xa—u+ya—u:2
ox ~dy

75. AR x+ 2y =8, T xy BT AfIHTH A &—

If x + 2y = §, then the maximum value of
Xyis:

(A) 20 (B) 16
(C) 24 D) 8
75. D) x+2y=8
AT zZ=Xxy
GE z:@:%(&c—xz)
Z P x B A ABAT B TR,
£ 1y,
ax ot
dz )
R CEE)) e
31y 9 =g W @ fore
é
dx
a1 4—-x=0
x=4
T (i) BT g7 ahad 1 |,
d*z
=" (FOTIE)
o X =4T z 1 A AfYHaH BATT |
.z T STHTH A

max

1
= —(8x4—4°
z 2( )

(32-16)

oo NI’_‘

Zmax B

76. 9% x = a(0 + sinf), y = a(l + cosf) T
0= g TR BT FHIGRUT 5—

If equation of the tangent at 6= g to the

curve x = a(0+sinb), y = a(l + cosb) is :

(A) x—y:a(§+2J
an

(B) X=y=—

(©) x+y:a(72c+2)

an
D) x+y=—
(D) y==

16 | AGRAWAL =XAMCART

76. (C) x = a(6+ sinf) ()
..(ii)

x T yH O AIUE SqHeTT B U,

y =a(l + cosb)

dx
— =a(l +cosb
70 ( )
e ﬂ = —qgsin@
do
AN &9 R,
dy
de asin®
dx a(l+ cos )
do
Q _ sin 6
dx 1+ cos6
_ sin ©
1+ cos6
T T B FHIDRT
Y=y =mx-x)
y—a(l +cosf) = __sinb_
1+cos6

[x —a(6+ sinb)]

T
y—a= —x+a+a5

x+y= 2a+a§

Y
+y=al-+2
Y (2 )

77. B y=|x| - 1AM y=—|x| + 1 o} &7
P &5 5—
The area bounded by the curves y =|x|— 1
andy=—x|+ lis:
A) 1
© 2

(B) 2
(D) 4

77. (B)

78.

y=-1 ..(1)

T () B T el B T
y=x—-1dy=—x-1

q y=—x+1 ...(i1)

Y. (i) BT S TS BT A
y=—x+1

q y=x+1

37T: XITRY T foRT &5het
A= [ et [ (-x =D

+ j;(—x+ 1dx + f; (x—TD)dx

&0 a8 & =g P(x, y) W wRi-xar &
-Lf ¥ AR O EReg W

X+

Tqurdr

TOIRAT 8, 1 TP P FHIBRT &—
The slope of the tangent at the point P(x, y)

. y+3
onacurveis —
X+

. If the curve passes

through the origin, then the equation of

the curve is :

(A) xy+2y+3x=0
B) x>y +2x-3y=0
(C) xy+6x=0

D) xy-2y+3x=0

. (A) T BT Jqurdr
dy _ y+3
dx x+2
_dy _ dx
y+3 x+2
T R FHHAT PR W,



Id_y:_j dx
y+3 x+2
logy + 3 =—log(x + 2) + logc
log[(y + 3)(x + 2)] =loge
A (+3)E+2) =c
9% o1 g & TorRan &
STQﬁ?[x=0,E[y=0T@%fq’\’

0+3)(0+2) =¢

c=6

37T: 37HISC Teh <Pl FHIDBRUT

y+3)(x+2) =6
xy+2y+3x+6 =6

xy+2y+3x =0
79. I y(x), 3TadHel THIBROT %uxy =x,
$(0)=0 1 T a1 &, a1 imy(x) &—

If y(x) is a solution of the differential

equation §+2xy =x, ¥(0) = 0, then
X

lim y(x) is:

A) —— (B) -1
© = )1
2
79. (C) Q+2xy =X
dx
pRy P =2x
Q=x
i eJde _ e_[zxdx _ exz
yxLF. = [QxLF.dr+c
2 2
y,ex = Jex dx+c
y.exz = xexz—f1Xex2dx+c
AT x> =t
dt
il dx = —
xdx )
P = lJ‘e'dt+c
V. )
X = le' +c
yer = )
1
yexz = Ee‘xz +c
»0) =0
amfa x=0,y=0

oxev=Looyc
2

80.

80.

e = —e¥ ——
lim y(=x) _

lim~|1-—
x>0 ) ex

lim y(x)

N | —

(2+sinx)( dy
IS y=y(x) TN 7)/ 1 de | TCos¥

W0y = 1,4 y[gj SRR E—

1fy=y()and EEMODY
y+1 dx ’

n
»(0) =1, then y[zj is equal to :

(A) 1 ®)

1
© -3

(D)

2+sinx(dy)
T ———| - | =—cosx
y+1 \dx

dy _ —cosx
y+1 2 +sinx

THI 3R BT B TR,
-2

dx

cos xdx

2+sinx

v+l 17
log(y + 1) =—log(¢) + logc
log(y + 1)(2 + sinx) = loge
T (y+ 1)(2 +sinx) =c¢ ..(1)
»(0) =1
TAIHROT (1) § 7 G UR,
(1+1)2+sin0)=c
c=4
()9,
-+ 12 +sinx) =4
4

= -1
2+sinx

-1

) =
) 2+sinx

81. 9 aegall &1 A1ed 9R 15 fHn ¥ 1 A &R
T Sirg &, 1 Aeg WR 16 1 2 S
B9 1047 9%g BT AR 8—

The mean weight of 9 items is 15 kg. If
one more item is added, the mean weight
becomes 16 kg. Then the weight of the
10th item is :
(A) 35fF/35 kg (B) 30 fH1/30 kg
(C) 25f@u/25 kg (D) 20 f&31/20 kg
81. (C) 9 TGl PT 71T 9R = 15 fm.
AT x U1 1 a6 T SIS TR A1
AR 16 531, & ST & |
.~ 9IRS BT el AR = 15 x 9 =135
.- T IG3l BT Fe AR = 16
9 qEGRHT BT AR +x "
10
135 +x =160
x =160 - 135
x =25 fo.
82. IR P(A)= %,P(B)= % 3R P(A NB)
11
= E,Fﬁ P(A/B) &1 A &—
If P(A) = 7’ P(B) = 3 and P(A N B)
15° 15
11 .
= —, then P(A/B) is :
15
3 11
A) = B) —
(A) 2 B) g
7 5
C) — D) —
© g (D) S
7 8
82. (B P(A) = —,P(B)= —
B) (A) - (B) =
11
P(ANB) = —
( ) 15
11
(A) P(ANB) 15
P —_— = —_— = ==
B P(B) 8
15

R | 17



83.

83.

84.

84.

P(é) 1

B 8

T RIFP Bl 6 TR IV & | S1h TR oY
I B B ITRiehar B—

A coin is thrown 6 times. The probability
of getting exactly four heads is :

1 3
(A) 1 B Z

5
© e (D) —

64

(D) T Ryad BT 6 IR SBTAT Il & |
HA AFEAG = 26 = 64
D 4 NS Y B BN FEHEAY =
6C. = 6><5 —15
47 21
T Ab 4 I Ut B B TR
_ 15

64

TS el H § M IR 5 HHE IS & | TGl
A S el S €1 ve oret iR
BT g BN A Wifear s—

A bag contains 8 red and 5 white balls.
Three balls are drawn at random. The
probability that one ball is red and two
balls are white, is :

40 80

A T ® 156

10 5
© o6 D) 6
(A) A G = 8
qPE g =5
B g = 13
B AT @ A SR A qHa
2R o TR = xS L
1371211
Tgell The T NI el AT <y
T B B TR = - X x -
13712 11
TEell 9 A WHE qAT TR AT

B Bl TIiepar = i><§><i

8 5 4 5
IRIpar = — X —X —+—
ST 13 12 11 13

4 8 5 8 4

X—X—+-—X—
12 11 13 12 11

18 | AGRAWAL =XAMCART

85.

85.

86.

86.

1,3,4,5,7, 4 AT n T | 6T 3,2, 2,
4,3, p, 3B W pn— | TSB! AT
q%l?‘lﬁierq%—

The mean of 1, 3, 4, 5, 7, 4 is n. The

numbers 3,2, 2,4, 3, p, 3 have meann — 1

and median ¢q. Thenp + g is :

(A) 6 (B) 4

© 7 (D)5

(C) 1,3,4,5,7, 4B AT n®
143+445+7+4
L =

6

au

6

3,2,2,4,3,p, 3B AT n— 1 8|

. 3+2+2+4+3+p+3

’ 7

=4

n=

=n—1

17+p _,
17+p=21
p=4
RIS H | A=V, 2,2,3,3,3,4, 4
T+1 .

Hﬁ%a—cm=7a1q?z

= 497 U5

q=3
ptqgq=4+3

ptq=17
IS T AR, T Traferds TRl
xX=ct,y= E%,W(O,O)Wﬁﬂfﬁﬁ
¢

J bl TR Regall, e yraet 7 ¢,
t, t, IR 1, ¥ FeiRa &, # fyeran &, @
1.yt BT AT &—

If a hyperbola, whose parametric

. c
equations are x = c¢t, y = —, meets any
t

circle with centre at (0, 0) in four points,
determined by the parametric values ¢,,

t,, tyand t,, then the value of ¢,.¢,.t,.t, is :

(A) ¢? (B) —?

© -1 (D) 1

(D) IMTURATT & Traifelds THEHR x = cf,
y=

AT G0 BT FHIDROT
X+ +2x+ 2+ k=0

-+ SIIURACTI T BT PIedl & o x
Erya%ﬂﬁﬂr—g’&rawﬁw

~ |0

it +t—+2gct+2f +k =9

At + 2get + k> + 2fet + 2 =0

R STfTIRTTT I DI AR gl
ty by t; £, X Preal & AT A
HHAIBROT o Hel B |

3dT: g B FHIGROT el P
thtzt3t4=+§=—2=l

Cc

87. <rega —+—_1 S AT F D
a

b2
) Taell UR Srel T < BT YUHE
T—
The product of the perpendiculars drawn

2 2

from the foci of an ellipse x—2+y—2=1
a b

on any tangent to it, is :

A @ (B) »*

© -1 (D) 2

87. (B) et a1

x* y
—drZ =
a’ b

Wmﬁ@(xo,yo)%l
9 91 BT FHHRT

x“xo_i_yyo

bZ

e Ega o TRR & ewne

(e, 0) () 21, T 37 & T b1 gRAT

x‘)c +1

0+b04

5N
qqr d2: 2
/ 0 +)];(L

xo +y0
at bt
__(e-d) o
a (x§b4+y02a4). at

=1

= x,26? + y,2a? = a2
a1 Yo 2% = a*p? =3 2a’bh?
qAgr br=a? -2

(xoc* —a')b*
2b2 2

?‘IE[dIXd2= x§b4+ab



(xg - a“)b4
b [xg (b2 —a2)+a4]

(xg - a“)b2

4

x (=) +a
(xoc*—a*)p?

=
88. WFT y = mx + ¢, WaeH )? = dax & g

(am?, —2am) TR AT & FHIGIT
QI ¢ SRR B—

Let y = mx + ¢ be the equation of normal
to the parabola y? = 4ax at (am?, —2am).
Then ¢ is equal to :

(A) am? (B) —2am + am?

(C) 2am + am? (D) —2am — am?®
88. (D) Wael@ )2 = 4ax (i)
THIHROT (1) BT x B AUET STHerT
TR W,
dy
2 .
y i 4a
b _2a
dx y
g (am?, —2am) TR T 1 gaora
dy —M= 2a
dx{amz, —2am) —2am
1
M= —
m
ST DT JauraT
1
M= ==
T BT THIBROT

(v + 2am) = m'(x — am?)
v+ 2am = m(x — am?)
v+ 2am = mx — am?
y =mx —am’® —2am
y:merc'\ﬁ_ngFﬂWT\’,
¢ =—am’® —2am
89. TR =@l x2 — 2Axy — 72 = 0 BT YOI
1 IRT S UMHBA BT AR AT &I, T
AP A &—

If the sum of the slopes of the lines x> —
2xy —7y* =0 is four times their product,
then the value of 41s :

A) -1 (B) 2
©) =2 D) 1
89. (B) =T 7 & AHIDHRIT
¥ =20y —-T* =0
ax? + 2hxy + by = 0 A JaAT BA
w

a=1,b==T,h=-A
HAT XIS B GO 7, q m, B |
.-, AU BT AT = 4 x JIOTATAT
Pl UTTHeT
my +m, =4m m,
_2h _ 48
b b
2(-A)=4x1
20 =4
90. fo5T1 SrfiuRgery & AT & &g & g4
16 SeTE TN S9! Sebegrall V2 ¥ 15
FABRT B—
The distance between the foci of a
hyperbola is 16 units and its eccentricity
is 2 1t equation is :
(A) x*—»*=32 (B) 2x*—)?=32
(C) x*-2*=32 (D) 3x*-3>=32
90. (A) IR & AT & 91 & g4
=16 3P18
S;S, =16
2ae =16

a

SiE =l (e)

8
e
2
8 _4a
b =d**-1)

pr=322-1)
b =32

S

a

91. ko o5 AT & foT0 @l y = fox + 2, T4
4x2 — 9)2 = 36 T TG BT ?

For what values of £, the line y = kx + 2
will be tangent to the conic 4x? — 9)? =

362
2 22
() 5 (B) =
8 42
(©) 5 (D) ="

91. (B) f&ar &, 4x2— 92 =36
X2 y2

3—7 = ...(1)
fem T IR SIfuRaed @
yafRfq wxar 31

I AfAIRTTT IR F°T =T

y= mx £ a’m® —b*

TR TR @M B A
y=kx+2
m=k

q a’k> —b* =2

A PR -p=4

. ()W a? =97 b2 =4 3G TR,

...(ii)

22

ke
92. TP Tl Bl F4gqe, S eAfarrg & ol
T AN T y =43 6 TS Bl §—

The locus of the centres of circles, that
passes through the origin and cuts off a
length 6 from the line y =4, is :

(A) x2—8y+25=0

(B) x*-8y-25=0

(C) ¥*+8y-25=0

(D) STdh # & PIg el /None of the
above

92. (B) 91 911 & 75 C(-g, £) T I B

AL 2+ +2gx + 2y ¢ =0
TS e e g & ot B

y=4

- A RE W,

0+0+0+0+c=0

= c=0

C‘HT‘T:Q?[H?T'\HT?[.

X2+ +2gx +2fp=0

37d: AC=4-(-f)=4+f
BC =P = g’ + /*

q BA =3

31T YISATIRY Y8y 9,

BC? = AC? + AB?
gHP=@+)+3
gHf2P=16+f2+8(+9

P +8-25=0

I feg g x2 -8y —25=0

R | 19



93, §HAS 2x +y +z =64 195 (3,5, 7) &I

gfafes &—

The image of the point (3, 5, 7) in the
plane2x +y +z=61s:

(A) (5,1,3) B) (5,-1,3)

©) (5,1,-3) D) (-5, 1,3)

93. (D) T =g P(3, 5, 7) ¥ |Hael 2x +y

+z=6T o PN E|
3T PN Y@ | &l o) g &
fcen® 2A+3, 4+ 5, A+7)
I I8 g N3, @1 I8 99 =R
Reerd 2 |
2QA+3)+A+5+A+7=6
4A+6+24+12=6
64 =-12
A==2
o N fdenss = [2 x (-2) + 3,2+
5,2+7)]=(1,3,5)
a1 95 P(3, 5, 7) @1 FHdA |
UﬁffaTEIQ(x,y,z)%l
3d: N, PQ &1 97 =g Brm |
x +3
2
nts
2
% 41
2
= Q,(-5,1,3)

==l = =<3
=3=y =1

=5=2,=3

94. TH XGRS, T faers erel I} 9&q

-6, 3,2%, & fRamdreard §—

The direction cosines of a line segment
whose projections on the coordinate axes
are —0, 3, 2 are :

(A) -

(D) Gq?‘j,?ﬁ F PIe Ta1/None of the above

94. (A) &l WY& a =6

by=3
€, =2
SREIRECENIY
a};
= ——
Ja; +b +¢cl
5
V36+9+4

20 | AGRAWAL =XAMCART

9s.

95s.

___ by
N
3
\36+9+4

d
7

C

z

e ——r
Ja; +b) +cl

S

V36+9+4

TRER B—

x-2 y-3 z-4
4 5

If the lines and

x—1=7y—2=z—3 are coplanar, then

a 3 4

a is equal to :

(A) 1

© 3

(B) v@T¢
x-2 y-3 z-4

(B) 2
(D) 4

a 3 4
-1 -1 -1
3 4 5|=0
a 3 4
—1(16—15) + 1(12 - 5a) — 1(9 —4a)

=0

-1+12-5a-9+4a=0
—a+2=0
a=2

96. (1,2,3)% Y@ x;6:y‘7zz‘7 T

2 -2
T Y T Bl TS 5—

The length of perpendicular from (1, 2, 3)
x=6_y-7 z-7 s -

to the line
)
(A) 3 B) V17
©) 7 (D) 20
96. (C) T &g P(1, 2, 3) X x;6 _
y=7 z-=17
—E—=.4 TR < PL STl Sdr
Tl
— x—6=y—7=z—7 —2
3 2 2
x=31+6
y=21+7
z=T-2A

A W W g 34+ 6,24+ 7,
7—22) Red 1

TG @1 PL S fadh 3 34+ 61,
22+7-27 72— 3R AT &N
@ o ogu 3,2, 2%

AT @T WER A & a9 3(31
+6-1)+QA+7-2)x2+(=2)

(7-2A-3)=0
9A+ 15+ 44+ 10— 8 +41=0
174 =-17
A=-1

o forg L& fdemad = (3 x -1 +
6,2 % (C1)+7,7-2x(-1)
=(3,5,9)

PL& ¥ &6 g

= JA-3P+(2-57+(3-9)

= J4+9+36=7

97. IfX cosa, cosP, cosy UH XA Y@ B

IHHITG &, TG (sinor + sin?B + siny)
IR &—

If cosa, cosf, cosy are the direction
cosines of a straight line, then (sin’c +
sin?f3 + sin?y) is equal to :

(A) 0 (B) 1

© 3 (D) 2

97. (D) cosa, cosf, cosy TXE T Bl

fegmereaTy &, a9 (cos2a + cos?B +
cos?p) = 1

AT 1 —sina+ 1 —sin?+ 1 —sin’y
=1

T sin’ + sin?f + sin’y =2



98. M x2 +)2 + 22 —x—y —z =0 Broar g—

98.

99.

99.

100.

100.

The radius of the sphere x? + y? + 22 — x
—y—z=0is:

3 V3
(A) 3 B) BN
(©) \E D) V3

(B) el BT FHIHROT a2 + )2 + 22 —x —y
—_z=0
=x>-x+)y?—y+z2-2z=0

= xz—x+l+y2—y+l+zz—z+l
4 4 4

FHIBROT b1 eIl (x — a)® + (v — b)?
+(zfc2=r2'\‘§f?4wﬁtl'\’,
J3

r=-—

2

/HT 5x2 — 6xy + 5pF + 26x — 22y + 2
fef e e —

The conic 5x% — 6xy + 5)% + 26x — 22y +
29 = 0 represents :

(A) TP g/a circle

(B) U® UXderd/a parabola

(C) & Afd9=aerd/a hyperbola

(D) TS Areg</an ellipse

(A) BT 5x2 — 6xy + 5% + 26x — 22y +
29 =07 Ax2+ Bxy + Cy? + Dx +
Ey +F = 09 T & W,
A=5,B=-6,C=5,D=26,E=-22,
F=29
39 fafafdxie B2 - 4AC
=(-6)2—4x5x5=36-100

B2 4AC =64

 B2—4AC<0qe A=C
3T MHd T JI I oo el B |

@ x=2 y+3 z-1
g, SRy — ==L ==
ﬁ% -1 1 6

THAS 2x + y + z = 7 Bl GeOaT Bl
8, & s &—

The coordinates of the point, where the
x=2 y+3 z-1
-1 1
plane 2x +y +z=7, are :

line intersects the

A) 2,1,-7) (B) (7,-1,2)
©) (1,-2,7) D) (2,-7, 1)
(C) =& BT FHIHRIT,

x-2 y+3 z-1
o - 0 T s = A (41

2-1
A-3
64 +

N R
I

1

AT AT BT FHIHRO]
2x+y+z=17

-+ NG FHE D Yo el & 31
I B R,
2Q-)+A-3+6A+1=17
4-2A+7TA-2=17

5A=5
A=1
o x=2-1=1
y=1-3=2
Gl z=6x1+1=7

T gfirewe g = (1, -2, 7)

101. I A TP 3 x 3 FpAVI STYE &, Al

det(adj A) IRTER T—
If A'is a 3 x 3 non-singular matrix, then
det (adj A) is equal to :
(A) 2detA (B) 3 detA
(O) (detA)? (D) (detA)?
101. (C) I 3MYE A U JpAUNY A8
sl
a9 A.adjA =|A[l
[A] 0 0
=0 |A] O
0 0 JA]
A.adjA = |AP

qq |AadjA| = AP
T |AlladjA| = |AP
a7 ladjA| = |A]?
AT det(adjA)= (detA)?

102. sfafr=n

102.

103.

f:R >R, flx) =sinx

g:R =R, gx)=x2

@ GYH YA fog BT A —

The composite mapping fog of the maps
f:R >R, flx) =sinx

g:R =R, gx)=x2

is :

(A) sinx + x? (B) sin(x?)

(©) (sinxy’ () S
X
(B) flx) = sinx
g(x) =x2
fog =flg(x)) =fix?)
fog = sinx?

TP i S P, P2 =1 — Pl AT BT
1 9f Pr= 51— 8P, T9 n SRIER &—

A square matrix P satisfies P2 =1 - P. If
P" = 51— 8P, then n is equal to :

(A) 4 B) 5
© 6 D)7

104. (C)

105. 3MTgE A =

105. (D)

103. (C) & s, P2=1-P (D)
a P’=P-P2 (. PI=P)
P3=P— (I-P) (. (i) %)
P3=2P-1
X PR,
P4=2P2_P=2(1-P)-P
P4=21-3P

dem PS=2P—3P2=2P-3(I-P)
P5=2P+3P—3[=5P-3I
3@ PO=5P2_3P=5(1—P)—3P

PS=5[—8P ..(ii)
3| (ii) BT P7= 51— 8P ForTl
TR TR,

n==6

104. log,(x — 1) = log,(x - 3) & BAl DI T

T—
The number of solutions of log,(x — 1) =
log,(x—3) is:

(A) 2 B) 3
© 1 (D) 0
log,(x — 1) = log,(x - 3)

log,(x— 1) = log . (x—3)
log,(x — 1) = 2log,(x - 3)

( loga"X = lloga X)
n

log,(x — 1) = log,(x — 3)

a1 x—1)=(x-3)?
=xX+9-6x=x—1

xX2—Tx+10=0
x=5x-2)=0

x=52

37 x=5

.. B B W= 1 7
(B 2, log(x — 3) B AR
Eadcul))

a h g
05 0

0 ¢ c

(STg) A E—

The eigenvalues of the matrix A =

@ arfyererfores

a h g
0 b 0Ofare:
0 ¢ ¢

(A) a,h, g
) a, h,c

(B) a,g,c
(D) a, b, ¢

h g

a
A=10 b O
0 ¢ c

Ff¥eremors H & forw
JA—Al|=0 (S8 A1 T% oK B)

TR | 21



106.

106.

107.

107.

108.

108.

22

a-A h g

0 b-A 0 |=0

0 c c—A

(a = Db — V(D] — hl0 - 0] +
g[0-0]=0
(a@a=ADb-(c-1=0

T A ® FHHIAd A9 = a, b, ¢
If¥errefores (M) 99 = a, b, ¢

Bl T ST dTe] AHI AYE D SAfereber
B FH 5—

A cyclic group having only one generator
can have at most :

(A) 131@¥d/1 element

(B) 2 319¥d/2 element

(C) 3 3rq¥d/3 element
(D) 4 319¥d/4 element

(B) If& G& TN g T oI o, Al g
i = g
I G FTA ThH TP s g =g !
a g=e (TEAD Y)
31T g, G BT 9Id & | 3Feq e ¥
5 G ifdrepem 2 Sraud B Hah B

Tt faom - aTTege &1 Tis fasuia
7 Bl B—

Every diagonal element of a skew-
symmetric matrix is :

(A) T/ zero
(B) $&7$/unity
(C) 3 /non-zero
(D) YGJ: HIeI1a/purely imaginary
(A) AT A TS fasm wfid omegs &
SRIG| AT=_A
a Ay = Ay
| fapol & sragq @ forg
i=J

a1 ZA;; =0
Az =0

FAT A=A, =A =0

3ra: fodlt faww wwfAa amege @

T i sraga g B B
BT [x]2 + 5[x| + 4 = 0 B aR<IAD BAT
) =T B—
The number of real solutions of the
equations |x|> + 5x| + 4=0is :

(A) 4 (B) 2
©) 1 (D)0
(A) S . x>+ 5| +4=0

o Rerfd—x2 — 5x +4=0

| AGRAWAL =XAMCART

109.

109.

¥ —4x-x+4=0
x(x—4)-1(x-4)=0
x-Dx—-4)=0
x=14
focia Rafi—x2 + 5y +4 =0
X +4x+x+4=0
xx+t4)+1(x+4)=0
x+1Dx+4)=0
x=-1,-4
3l: BRI b ARl B 1, 4,
49 1% AT 4T

131 1351
et 22 —

. - B
22 2472 24672
Bl AATh B—
The sum of the infinite series

11 131 1351
P A

22 242 2462

2 1
(A) \g (B) \3

© 3 (D) %

+..00 iS:

(A) ST

11
St
22 2472

131 1351

n(n+1)

2

w(I+x)"=1-nx+ X =

n(n+1)(n+2) I

Ié Tt o

1
e & fb x=2 dn=g

-1

. ezrufr:raawl =)
G -6
-

110.

110.

111.

111.

THIER S A A Renedl &1 AT 5178 9o
Y T4 JaART HEATRA B UGS 273 8
39 G B G AR &—
The sum of three numbers in arithmetic
progression is 51 and the product of first
and third terms is 273. The common
difference of this progression is :
A) 5 (B) 4
©) 3 (D) 6
(B) AT AR 1l 1 W A& g —d,
a,a+dgl
WANR, a—d +a +a+d=51
3a =51
a=17
qAql (a—d) % (a +d)=273
a?—d* =273
a*=17>-273
d* =289 -273
d* =16
d=+4
i b |\ 13, 17, 21
TN AR =17-13=4

q P P WHD A 4 8| AR D
FHIR 1T A T IR 718 G, FAIBROT
2A+G?=27 P T IR &, T 3P 6—
The harmonic mean of two numbers is 4.
If their arithmetic mean A and geometric
mean G satisfy the equation 2A + G? =
27, then the numbers are :

A 1,3

B) 1,4

(©) 3,6

(D) ST A I F8l/None of the above

(C) 9T 8% ad b & |
| EIETH A1 =4
2ab
a+b
a7 ab=2a+b) .0
a+b
2

b

4

7 RRAR G = Nab . (iii)
RIfB AT G AR 2A + G2 =27
PN YT B &

2.a—b+ab =27
4

e AN HIET A =

...(11)

3d:

3ab

2 7

ab =18

. ()W, a + b= ab _18
2 2

...(1v)

at+tb=9 (V)



D= \(a+b)’ —4ab

— 9’ —4x18

= B1-72=19
a-b=3 ...(vi)
. (v) T (vi) 9,
a==6
q b=3
3 B 3T 68|
112. A AARAT 6 AT 3 x 3 ey &, e
fYeTerfire (amgie) A 1, -1, 08 | 99
L+ A0 T AT B—
Let A be a 3 x 3 matrix with eigenvalues
1, -1, 0. Then the value of [I + A% is :

(A) 6 (B) 8
C) 4 (D) 100
112. (C) = 31ege & Sf¥remerfors 7 A= 1,
-1,0

GEl |I+A100\ = |1 _;,_1100'
T A=1TW=|1+(1)!99=2
A=—1WR =1+ (-1 =2
qq A=0R=[1+0|=1
a1+ A% 1 A1
=2x2x1
=4
113. 919 AT {5 Fafie oead e & e
G % |¥E & | A1 AT 6 a, b e G39
TR & fb o5 = e T aba! = B2 o(b)
T—
Let G be a group with identity element e.
Leta, b € G be such that > = e and aba™!
= b2 Then o(b) is :
(A) 17
©) 29 (D) 31
13. (D) s, aba! =P
M &R T T |,
(aba™")? = b*
(aba"(aba ") = b*
ab(aa “ba' = b*

(B) 23

ab*a! = b*
a(aba Ya' =b*(-- B2 =aba™)
a*ba? = b*

(a*ba ?)(a*ba?) = b3
a*b(a*a?)ba? = b®
2ba>2 = b8

a*(aba Ya? = b®
a*ba> = b3

9 (aba3)(a*ba>) = b'°

a4b2a4 = b16
a*(abaVa* = b'®
(14[)(14 = b16
AR (a*ba*)(a*ba*) = b3
a’ba> = b3?
39 YHR FHIER0T ¥ 0(h) = (32— 1)
=31 9Ty B &
114. Y% T SATE Bl T (AT ST Tl &—
Every square matrix can be expressed as :
(A) T g 3z @ %9 H/a Hermitian
matrix

(B) U& favm-qafdd amegg & w7 H/a
skew-symmetric matrix

(C) wHfd qe faw-gafid el &
INT & WY H/sum of symmetric and

skew-symmetric matrices

(D) SYYh 79 P 781/None of the above
114. (C) WHT A TS I T8 & |
WA= S(A+AYHI(A-A)

1 r _l — Al
'FI'FITP=E(A+A)E[Q— 2(A A')

P = B(A+A')]
- (A ) =P
P S(A+A)
3T P US A STYE & |
< YR,
1 N
Q'= [E(A_A)]

1r., w1 ,
Q'=5[A—(A)]——E(A—A)
=-Q
3 Q U fIw | 3TTegE ¢ |
I YIS T AYE BT T FH
g fav| wafd aegs A & Wy |

form S woar B
115. 39 o0
l+1+2+1+2+3+1+2+3+4
2 I3 4 5
BT ANTHA §—

The sum of the infinite series
1 142 l+2+3‘+1+2+3+4+

—t—

2 I3 4 15

is:

(A) 2e (B) 3e
3e e

© Y (D) 5

115. (D) st

i 1+2 1+2+3 1+2+3+4

A ER ST

2N BT pal I
1+2+3+4+.......... n

T,= n+l
n
—(n+1
Z(n )
n+l

n(n+1)

" 2n+D)(n)|n-1

4
116. 3Tg8 A= [f 2] @ SAfATETS e 5—

The characteristic roots of the matrix A =

5 4
are :
1 2

(A) 1,6 (B) -1,6
©) -1,-6 (D) 1,-6
5 4
116. (A) A= [1 2]
3ITeE & AT a1 & oty
|A— Al =0 (ST&f A& 3FaR & )
5-2 4
‘1 2—x‘=0

G5-D2-1-4=0
10-54-22+22-4 =0
2-T1+6 =0
P2—-2—-61+6 =0
MA—-1)—6(A—1) =0
A-1)(A-6) =0
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117.

117.

118.

118.

A=1,6
37T: 3Tfyerenfors = 1, 6
T 3egg ATd B S fore 7 & & -4
TAE?

For square matrices A and B, which of the
following is true ?

(A) (AB)' =A'B'

(B) (A+B)=A"'+B'

(C) (AB)'=A"B"!

(D) (A+B)yl=A"1+B"!

(B)IfE AT BT e & (A+B)' =
A' + B' Refa w19 21 |

T BHET M B IFACTEOS T B B—

The characteristic roots of a Hermitian
matrix are :

(A) IRAfAF/real
(B) YEd: HIeIME/purely imaginary
(C) wffst F=md/ complex numbers
(D) SWth 7H B 7a/None of the above
(A) TF W|fEs MYE A 79 TH e
e B ¥, IR TE THD G
TETR & SRIER Bl
SRINY A = (A%)
Tl A* WG ST |

a b
HAT A:Cd

24 | AGRAWAL =XAMCART

120. ARfOTH

a A=(A%y

a b a* c*

[c d] Z[b* d*:|
arafq a=a*

d=d*

g Rerfay T F=7a & ST Afeysy v
TP g TP AT 2 |
1T B Sirege B Srfvererfores Het
JRAfAD B & |

119. TP e {a, @, a3, a* = e} F/B B

B/e—

The generator/generators of the cyclic
group {a, a*, a*, a* = e} is/ are :
(A) a* (B) a?

(C) a* a® (D) a, a®

119. (D) ¥ 99 (G) = {a, d% @, a* = e}

e B DI 0(G) = 4

I ok T O § Ife K AfETS
MY BT, A

I 4 B TorT ATIferes rTo SaRen
19 3%
ﬂﬁ:a,a3mwiﬁm%|
43 1 6
35 7 4
17 3 2

1AM §—

43 1 6
35 7 4
17 3 2

The value of the determinant

is:
(A) 0 (B) 56
(C) 756 (D) 964

43 1 6

120. (A) A=[35 7 4] @M

17 3 2
|fear ¢, - C, - C, ¥
21 6
A=28 7 4
14 3 2

C, ¥ 7 SHIAMS o+ W,
6 1 6
4 7 4
2 3 2

- Tohdl ARG & a1 Ufh a1 =+
FHM B, 1 GRS 1 A 2 Bl
gl

- W C =C,

31 A=0

A=T7

aa



. Ffewi u=i+2—k v=—2i+3%k,

®=7 -4k B TG THR ST
1 ST B0

(A) 23 T TFE

(B) 33 ¥H 5

(C) —31 T

(D) 21 T 5

. 39 AEAE F GHE F S S fag

2 1 6) -6k —3i +10/ —9k T -
S7— 6% W FT ST 7

(A) .7 —j-2k)=8

B) r. (2 —j—2k)=2

© r. @i -26)=T2

(D) r.(2; —}—2}}):18
. g Py (-3, 0, 7) | BT ST aredt 3T

fem x=5i+2j-k & oEER wEed
F1 AHIH E—

(A) 5x+2y+2z-22=0

(B) 5x+2p+2:422=0

(C) x+2y—=z+22=0

(D) 5x+2y-2z-22=0

Ca= (L) ¢ =01, -1) A W™
< "fgwr 1 9few 6 F1 M wEfEw

c}xb,=ET-r?.]Tc}_5=1()%?
(A) (4.3,3)  (B) (3,3.3)

© 3.2,2) (D) (2,2.2)

. WfE® 2+ ki 3 - Sk T 3i -
4 — 4k TE AT K gl T
frafaferda s TR A fEa @ &
Eleieaical ¥

-12J6
Ja

1.6

(B) cos™ \/ﬂ

. _166

(C) cos N7

(D) & & % &

. FHT FHIHT (¥ + 1) cos x dy + &
sin xdy = 0 =01 Bel =

(A) cosx(eV+1)=C

(B) sinx(e¥+1)=C

(A) cos

7. eﬂawaﬁw%—

10.

tfeea ge-1

(C) sinx(e+ 1)=C
(D) —sinx(@+1)=C

1
e yEtsiny

T 5—

(A) x= y? —siny+C

2

B) x= % +cosy+C

2
(C) x:y?—coserC

3

D) x:}? —cosy+C

% geiwr T ge % e % g,
Bm—

(A) x>=2x+3=0

(B) 3xZ-2x+1=0

() 6x2—5x+1=0

(D) x2—5x+6=0

X
1| PIEA

HAodsheT HHTRLT

-
(A) yv=log (> + 1)+ C

o
@ x°

By y= % log(x2+ 1+ C
Q) v= % log (x*+ 1)+ C
(D) y= % log(x+ D +C

SATFA T %ery:e’-"' T o

AEREHE ToiE x% T @ omw AN
3

(A) 2
(€)1

B) -2
(D) -1

11.

12.

13.

14.

15.

16.

17.

FEhE HHIERT (l—xz)%—xyzl Eal

HHAT T ©
X
(A) —x L R —
© T2 (D) ylogl-#)

(I+i)5(l+%)5 A

(A) 64 (By 32
(C) 16 (D) 8
afs fareit iR A A (o ¢ gyt T
maﬂi(pfq)ahan%ﬁ,ﬁpaha‘s‘ﬂﬂ

(A) Jmm (B) \/E
© = (D) (mn)2

m
'A' T 52 WET HT AT wT TEET § 2
T gAEIifUa (Replacement) F0 §U
w9 MY IR B oY & U WS (Pair)
FI Thebdl €1 T A T S R 9HE e
(Suity ¥ 3T B & 6 F1 I AT B
EIRURETIR
(A) 17144 (B) 1/4
(C) 57144 (D) 7/144
afe TeAd AL I3 TER TS §, a9
P( AU B) ST FF1
(A) P(A)+P (B)(B) P(A)-P(B)
(C) P(AP (B) (D) P(AP) (B)

St l+|2+22 12 +22 432

2 T
e =GR BT
(A) %e 1) %e
© e ) Ze

feet faqs & < 957 s #1
wrareal w24 it 22 €1 afx =
AT A0t H 2, O A e et
TETE BT

(A) 12-2v3  (B) 12V3+2
(©) 124243 (D) T A =%E =

o | 67



18, im L[+ 1) (n+2) (0 +3)...(n+n) 2

19.

20.

21.

22,

23.

24,

=0

e -
(A) e (B) l/e
(C) 2/ (D) 4/e

Itan U frdx sUET —
(A) (x+Tytan”' Vx—x+e
(B) (x+1)tan ! Vx+Vx+e
(©) xtan 'x+Jx+¢
(D) xtan”' Vx+Vx+e

J-sinx COSX o
L+ sint -
(A) log(l+ sin4x) +c
1 )
(B) —log(] +sin” x) +c
(o) ltan’I (sin2 \‘) +c
3 2
(D) tan! (sinZx) + ¢
RRIEIGE
1
x+1 ASNE
) () 2w
A B—

(A) Iog(%) (B) 410g(%)

© 4og(3) ) toe(3]

sinTlx T g lfl—x2 o HTOE
ST §—

(A) {B) sin lx

1-x2
(C) cos lx (D) 1

vsmx
0 ﬂbln’C +./C0S X
4§ - §?

v—.N\:q

—dx I HA A

n
B) 7

A =
()2 3

(©) % (D) T 9 FE &

¥2 5 Y x> 1 AR T 7

) 3x
(B) —

(A) 3x2 5

c 3
< x (D)2

68 | AGRAWAL =XAMCART

26.

27.

28.

29,

30.

31.

32.

33.

; dy
Ay =%, Wx= 1 W d—im—%w
77

(A) 0 (B) |
(Cy -1 (D) 2
Tt <1 49 HEATd o1 Hifs, forehr @
16 &1 AR 5= w41 &1 407 femm &—
(A) 4712 (B) 67T 10

(C) 8T8 (D) T I FIE &l

7 o dH o= A, B it c €1
(A= B)uU (A—C)aTeR gl

(A) Am(B~C)(B) Au(B-C)
©) An(B-C) (D) A—(BAC)
= VOWELS ¥ fa v =9 9ohd ¥
i I E Y IR & 7

(A) 12 (B) 5

(C) 120 (D) 240

7l 7P, = 120.7C, 9 r %1 A 53—
(A) 6 B) 5

(€ 4 (D) 3

S%)

e tim (1oL 142142

1’12 1/n
‘-{”H—z) AR &

(A) dem—9 (B) 3em-4
7—4 n—4
e He f(x) N 6

11 aw x=1

Jax+b A x>1
J(x)
Sax—2b =k x<l1

WW%,W{W%,,\:L??M@?\R[)EFI
H

(A) a=2,b=3 (B) a=1,b—4
(C) a=3,p=2 (D) a=4,b6=1

i 1,2,3,4,5. 69 4 FH! H Twa
TE?

(A) 240 (B) 150

() 720 (D) 360

sin? x cos? x =1 Weh HodH ﬁFs; TrT—

p
—ap—l 2
(A) x=tan q

(B) x=tan’! \/%

34.

35.

36.

37.

38.

39.

40.

41.

42,

(C) x=

()

(D) x=tan"! [%)

tan [cos’I (%)nLtan*' (%H 1 -

(a) ®) &
© 2 (D) = A

Brfe ABC #, 2ac sin (A~ B - )

= B—
(A) 2+ -2 (B) 2+d2-b2
(C) BP—c?—a? (D) 2+a?-b?

I sin ! x + sin! 2x = /3 T x BT AE
BMm—

(A) +J3/247 B) +J3/V7

© o (D) 1

A %, = cos (W/3%) + i sin (W37, T xy.
X X3 ere. %0 T T AN %_

(A) 1 (B) i

() -1 (D) -

I tan O + sin O = m T tan 0 — sin 0
=n B, W m? — 12 T HH TE T—

(A) 4fimm) () dmn
(C) 2(mn) (1) J(mn)

39 3@ 1 T, S g (g cos® B,
a sin® 0) 9 EH I ¥ qA x sec O
+ycosec€):a‘3RF|ﬁI%‘,'€lTﬂ—

(A) xcos0+ysinQ=¢sin 20

(B) xsin B +y coscc 8 =a cos20

(C) xsinB—ycosB=asin20

(D) xcos—ysinB=acos20

tan(4 +9)tan(3—ﬁ+ G)W HHE B—
A) 1 By -1

© o (D) 2

tan 3A tan 2A tan A IR &

(A) tan 3A—tan 2A —tan A

(B) tan 3A +tan 2A +tan A

(C) tan 3Atan 2A—tan A

(D) ST & | =+ T

AT 3cos x =5 sinx, W

Ssinx — 2secd x + 2cosx

e E—

Ssinx + 2secd x — 2cosx



43.

44.

45,

46.

47.

48.

49.

361 271
() 2397 B) 579
, 54 127
(©) 979 (D) 979

3+ 4 1 o a1 ¥, R = o]
g7

(A)2+i (3)2—i

(C)-2+i (D) -3-1
Wy=x3—3xz—9x+57ﬁ133|32ﬁ(@1x—
A F AR §, W9 fag 94 §—
(A) x=07T0 (B) x=19-I

(C) x=19-3 (D) x=—193

2H"HA+B:%z‘r,ﬂ‘r(1+mm(1+

tanB) BFT-

(A) 1 m) 0

. 5

N B D

(© D) (D)

-1

T p=—secO +tan O T 21 FAAE
(A) sinB (B) cos6
(C) sccB (D) tan 0

fordt AR % oTaR § oMER 3@ W
W:aﬁr{b@nmmﬁﬁﬁPSﬂ'{
Q#F TR & forer 9 s = +m
FHifeqe & | HHR *T HaE §

W v m
(©) ab o

afg A={3.4,7.8},B={1,5.6,4.3),C
={4.5,9.3.8.6.W(AUB)NCE

(B) 13.4,5,6,8)

(©) (3.4}

(D) T 8 FE T

d9 HemE 4, 6 3T 8w SR
FHM: (x +2),xF (x— D E| AfF T 1
TR WEA 5.76 B, T x 1 0§

(A) 7 (B) 6
(©) 10 (D) 8

. {3 ar = are fase 8w
UTdieh| 40-d44| 35-39 30-34|25-29
| 2 3 4 5
(A) 7.24 (B) 4.48
(C) 6.44 (D) 34.8

51.

52.

53.

54.

55.

57.

Wk H41 & 15 dlelohl & g9/ A &l T2
AR & SER

oo (fFm ) |31 34| 35|36 37

AT i FTEE| 2 | 3] 4|5 1

STCToh! & ST o U hi HITEHT BRI
(A) 34s5fsm By 35fwm

(€) 355fFm (D) =9 9 FE T&
ﬂ'ﬁ:’nﬁ&l’“ﬁxl,x?x}....xnﬂ?lwmw

SAPIRE

(A) 0 (B3) 1
(€) » (D) T A+ &
g 9 P Al Q Ofg T8 +W W FE
i T 37 i sa R, 99 P &
TR 2, W Aafs P I AT TR S,
99 9ot 99 2R Q % Wy s
EALET

(A) 30° (B) 60°

(C) 45° (D) 90°

T e forAeEn 3 TRE w=E 4§
geal W 5 Tekve § ygEar €1 3 A
% 39S 9k TR B UF iR
A e 9w @ gt W ger T
R H fraw ?

(A) 3 TFTE (B) 4I%vg

(C) 45UFTET (D) TTH A FIE &
9 IS5 H SAREmIE =4 g9 S 100
e TR ¥ 300 TR g wiT SR
T Eiadr €7

(A) 300 (B) 350
(C) 380 (D) =78 9 % T
. 12 et wfd gver & 9 ¥ s feon =

AR S A Tk SR 10 et e
# tw oW feerd 3@ € St 16 faet
fd BT % 1§ UfEEH $T SR S W@
2| | ¥HF UTEE § UH-TW H
R g W AN B3 W 3
I gL 1 BRI ?

(A) 261 Tl (B) 8 felt

(Cy 6 Tt (D) 4o

T U HE= T (sheHl) TRt forg
P R \E T iR feraw fag ¢ W 9=
T, & T =19 CP &1 R W &,
(A TP +T, =W’

B) T°-T, =W’

(C) T+T,=W
D) T-T,=W

58.

59.

60.

6l.

62,

63.

64.

65.

Afe ; Uk iy gem &, d = 9 9
- T TH & ?

(A) (z2) Tomrg Fredfes &
(B) (z7) STHRUTHF AEAGH &
(©) (z-7) Tourg amafas &
(D) (z+7) Tomrs wweate &
AqfE (0 THE 1 TA &,

W(l+o-0P+(l-o+a’P+1F
T ERT-
(A) -1
© 1

B) 7

(D) =3

A (1+i3)2=a — ib T, TB a1 &
STEfoeR €, T8 A T T BT

(A) (V3)" B) )"

o (D) 1

Al (5+246)" Y +(5-2J6) V=10,

TExHIAAE :

(A) £330 £43 (B) 5 £ 5

(C) +47 /4 (D) +27 +£2

AR V={(x1):x20. 20} 3R W

:{(x,y):xyz()'},Rz_OﬁW%,W

(A) V3R W Sugmfe §

(B) V SUHfAR ifdmd W

(©) W saafTse & wife v 7@

(D) V 3t W sygmie & &

(i) [o b]Tiwaa g

(ii) Ja b saFeHT §

(ifi) F(x)=g (¥)¥ x € | a,b] T FH-HT
qd &7

(A) ¥ ¢ H i &1 T/ T

(B) /@I g Wea WoM ¥

(C) f3IR g Fh THE T & T €

(D) 90 H U FE 9

fretatem | =9 @@ ¥

Sl i = +/-17

(A) 1—i>2—7 (B) 2+i>1+i

(C) 2—i>1+i (D) TH ¥ *E T

YIhfd GeAsl & Wo=ad N W TF

YR, {(x.y):x.ye N, 2x+y=41} &

B URIfom ¥, 7@ R ®

(A) =g (B) wHfia

(C) WFTF (D) T98 A T T

o | 69



66.

67.

68.

69.

70.

71.

72.

70

sinh ! (cost B) ST &~

(A) log(cot®+ coscc )

(B) log(cot 0—cosec ()

(C) log{cos6+sin®)

(D) log(cosB—sin8)

U Highar* ol aredfoeh Tt W g *
hb=1 +a+ctb§|ﬂqﬁﬂﬁlﬁm%,ﬂa
HfeRan *

(A) HHAfETHT § wAfer wE=d &

(B) e ¥ wifer wafafia &

(C) Tre=d @i wafafa dri &
(D) WrEed 3R FwafatEa <El &

W HEAA & qY=Td T Teh T+
R. gRb & uftenferg & foF o @it 5
HE-ATg § 7 R B-

(A) Ted TS WA

(B) THU+ W& HAftq

(C) g T HFAE

(D) T ool e
FhHx=32+1,y=F 1 Hlx=1TTE
g T yE ¥

afest ge (-1 - i) F, W& i= )
Eaica o

51 57
(A) — B~

in . -
© 7 (D) T | %E &l

TF @, S x-3 F T ¥ 3K T

= Jx B 450 e
) x=73 (B y—g

© y=2 @ y=1

| AGRAWAL =XAMCART

73.

74,

76.

77.

78.

79.

ABC W& T f39<1 & | 2 A 9 #6vf
BC W AD @ @ ™11 AT AB =3
Yot 7o AC = 12 Y, 1 AD 1 orag
&

(A) 15639 (B) 65/12 9t

(Cy 60/1398 (D) 117/8 Tt

& e & 2 (4, 6), (2, - 2) 3T (0,
2) %1 39 F5h o PR F1a Fifa |

(A) (2. 1) (B) (2.3)
(C) (2,2) (D) (1,2)
. AG.5).B(—4, 87 C (-6, -2)TH

et & wmer: wif & fadene 31 fay
=1 it 1 HHHL B~

(A) x+4y—-17=0

B) dx+y+17=0

(C)y x—4+17=0

(D) y—4x—17=0
Frfefes & ¥ ®F- 99wd e
Y=g §?

(A) A= {x:xTF agYst €}

(B) B= {x:xTH TR w74 &}
(C) C={x:xTH 3T 5}

(D) D= {x:x T a1 &

=oh 1.2 —0) (2 - 0¥ + 2.3 — o)

G-0)+..+n-1D)n-0)n-—0?,
&l o U T F1 FIeA-h I &,
= &

) {n(n; ])}2
®) {n(n; l)}2 B
© {}’Z(f12+ l)}‘ n

(D) = 9 % T

forg (1, —2) A 5T et ao <At ot |
T AEVE FIed aledl 1@l H
EricTui

(A) x+y=1 B) x—-y=1
(C) x+y+1=0(D) x—y-1=0
ww fag ¥9 yoR i war § TR ot

forg (3, —2) T gt =1 =1 TS T H
THR W 5% — 12y = 13 W g & e
T ¥ fag & faguer 1 S ¥
(A) X242 —1Ix+16y=0

(B) x2+32—1lx+ 16y +26=10

(C) x2+)2— 11x— 16y -26=0

(DY 13x2 + 132 - 83x + 64y + 182 =0

80.

81.

82.

83.

84.

85.

8o.

87.

@A Bx—y=35 T x—3y=7
& ST o HI B-

(A) 30° (B) 45°

(C) 60° (D) T8 A =
aT;Fy:logx,xfBJ&TBfl'{x=e3ﬂ?ﬂfﬁ
ol U & 1 &A%A B-

(A) e B) 1

(©) » (D) T A ®R T

Wy2=4ax3ﬁ'{wi@y=2ax
@ A=PIG T U & R S%a SR

1

(A) B) 3,7

a
=
J

o 1
© 3¢ 3u
fog (1.2, — 4) | TERA et st

x=8 y+19 =z-10
37 16 7

D) 3

T
x-15_ y-29 z-35

3 8 5
W o T W GO g

x—1 y-2

(A)2_3_6

©) x}—l:y;2:zg4

(D) e § | S &

AT y = 2x + ¢ T 32 = §(x + 2) HI
el LA T, a6

(A) ¢c=5 (B) ¢=3

(C) ¢=2 (D) e=1

39 el 1 AFAT S A 42 +
YV =4 z=0TT T (1, 2, 1) A EFR
S §?

W Lx oy 2,

(©) 203—‘En (D) T T =7 &
T [z — 3i =2 T AL P T z A
fagua 2m-

(A) 99 (B) W&re™

(C) e (D) x-318
ISl e ST YiHa e frEfia
w4 7 Afs-

(A) e=1 (B) 0<e<1

©) e>1 (D) e=0



88.

89.

9.

91.

92,

93.

9.

wra  mnsi xJ3-yp=5  q@:

s+ p3=4 AT FRIE

) ¢ (B) I
© 7 (D) 90°

g - Uw iy = §, @ (- + 5)
(Z +5) <IU=R B0

(A) [z+5iF  (B) |z-5F

(C) =+57 (D) |z+5?
zlﬁ-fqﬂ_vﬁf: [a,a+h]:h 0 TEH YK
qfeafod ¥ 7 () £, [a, o + 4] T Had &
(i) /£ [a, a+h] ™ ke &

T UFE 0, 0 < 8 < | k1 I 59 TR
EfF fla+hl=f(a)+ hf (a+t0h)
FEATT &
(A) et ¥
(C) AT

(3) IR THT
(D) s W

20 10
e A= [0 73] @R 1:{0 J ™
= # %9 T sTeE R 7
(A) AZ+5A+61(B) AZ—35A+6]
() A2-35A—61(D) AZ+5A-61
0 3 5+2%
aeE| 20 9k

[521 9 0 l%@

(A) HfHa 3=
(B) Torem gHfim sTege
(C) iRl sregg
(D) o sfieia srege
A g+ bhbre=08

a—x c b
¢ b-x a |=0 FTF A
b a c—x

%‘;_

(A) T B) atb—c

(C) atb+ec (DY —at+tb+e

0 x—a x-—bh

e |x+a Q x—c¢|=0, T x 1
x+bh x+c¢ 0

A e B

(A) 2 3y 1

() 0 (D) 3

96.

97.

98.

99.

100.

101.

102.

103.

2 e 3
. mrfo 20T 3| wm

2 4203

(A) (B) e

(€) = (D) e—m++2
2 8 4

i | 6 10 o g
1 7 2

(A) —440 (B) 0

(C) 328 (D) 484

g 42— 3x + k=105 Tl 1 TIFH —
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